B3 ©F A TSR Siefeall

| A Neutral ~ bn
| ! ‘h/— s /

ey

qy Plarg 4% 53900

TOP VIEW

(Md. Abdul Khaleque)
Sanenltant TAPP RREP

B s . s (8
| E —1
H |
:: | :[l' aa " Neutral l
M l ‘Fi p |
111 & |
1 S AN
I ST
I o |
I | :| ¥ > |
i 8 |
: s
— g | | g.ﬂ.’
_\=| | |: 5; l
i | i a < |
ﬂh\“l :l ;e |
| nfi}ii_.@. | B
| i e U ———
s ettty et i
S_am
§ [ 28
37 =5
g¢

idul Islam),
onsuitant TAPP BREF

(Md. Duhidt

"mli'D‘L-f‘
|
R R e e
|

g 1 :
(Md. Mozibur Rahman)

Sananttant

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/ 11 KV, PRIMARY, 3-PHASE STEEL CROSSARM (X7) CONSTRUCTION SINGLE CIRCUIT |:PHASE TAP

Date of Origin

Reviewed by Approved by

Revision No.

Unit Designation

July 1979

BREB BREB Board

6

C23A sheet20t2

Revision Date: JTuly 1980, June 1981, August 1989, July 1995, August 2013, February 2020




152 (6")

uR) O (IS AU

152(6")
[T 7835 ] 1603 76 (3") | 7613")
N A 610(2) ", W e

224 (9")

Position of Guy —/

j [
12
[
% |
| i
o@ i
g R e B
o ] i
ASSLSC":”T'G)) .
—_— ——ﬂ}ﬂ“f
Note ;- c-d-ek/:

1. Brace holes at both end should be 11/16"p
2. For 150' R.S 11 KV with Hawk conductor.
3. For 150' R.S 11 KV with Penguin conductor,

——

4. Tap take-off angle between top and bottom circuit may vary

from what is shown on this drawing,
54 to A7 drawing for deadend requirements,

oy i\
g

FUTCIRALS 244900

%nm
AREB:

ekgiliG)
.anf__T_AF’ﬁ%%_B

4
!J

(Md. MoZemme

NS

=]
o G§
E.‘
- & 5°
A e D@
E & e c
= = R
S < 2O
- g an
= 3 %
St =8
/—Neutral bn |
. T !
cm
aa Neutral [
) |
o

0
k'//p

bs

6. Lecation of jJumpers will be determined by the phase to be tapped I \
7. Al certain location this connection will Bolt Carviage; Bolt, M/C, 1/2"x 11/)"

8. See drawing M42-11 for deadend assembly details.

9. Normally Bolts will be used to fix the hardwares If not possible

use of G | Clemps (duly approved by BREB) shall be made.
10. Serew lag is required when the unit is installed on wooden

|
|

A

{Md. Duhidul Islam)

an)
REP

csutindt TAPD B

e Seiiant TAED e
] !]

poke sl TOP VIEW
ITEM | MAT. CODE | Qty. MATERIAL ITEM | Mat. Code | Qty. MATERIAL
a Cl 04 | Insulator, pin type s BT3 01 | Clevis, secondary, swinging
b BY 01 | Pin, pole top, 20" aa B53 02 [Nut, eye, 5/8"
c B 67778 06 | Bolt, machine, 5/8" x Required length ¢ B3 06 | Bolt, M/C, 1/2"x 114’
d B 46/118 06 | Washer, square, 2 1/4" C B4/ B4.1-4.3 03[ Bolt, M/C, 1/2"x as req length
E BI 03 | Pin,crossarm, steel, 5/8" x 10-3/4" [ Bn BB5/86 02| Clamp, Toop deadend
g X6 03 | Crossarm, steel channel 4" x 2" x 2" x %" X 3’0" cm Cin 02 | Spool, Insulator, 1-3/4" or 3" dia_groove
i B40 06 | Screw, lag (for wood pole) cu B41/B41.1/B44 | (06§ | Brace, Steel/'Wood, 28"x 1/4"
k C10 02 | Insulator, suspension ek B350/ 138 22 |Lockmuts, 5/8" bolt size
I B81/132/133 0T 1 Clamp, deadend n B26/27128 03| Boli double arming, 3/8" X required lengih
bs B33/34/35 01 [Bolt, Single Upset, 5/8"x as req'd length

BANGLADESH RURAL ELECTRIFICATION BOARD

|

Unit Description: 6.35/11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION- SINGLE DEADEND

i
1

Date of Ornigin

Reviewed by

Approved by

Revision No,

Unit Designation

July 1979

BREB

BRERB Board

6

C23B

-

Revision Date: Julv 1980, June 1981, Aucust 1989, Julv 1995, Aucust 2013, February 2020

1




4: 4
>
£
O
50
og
2 52
w0 & o
+ 8°
. = b \
e \n -
< o
[a st o b
o
i‘a 33 E
m Za
~ \- S& ﬁgﬁ
=< =
= gg
s P BE =
T 2 23
=5 =
) ) =3 : S
|~
(=)
|
™
¥
1d Md# G Rahman)
[E‘dﬁ"{% RRER
{N‘;d_ ‘}\,ndulf:‘.ﬁ} _:
sgnsuitant TAP® Rt
NOTE Neutral ‘ |
Intersection angle of lower i g (e SR e i i
circuit may vergy from what ] o] (NOte 3) / ( ] |
is shown on this drawing. p i ] I
2. At certain locations this connection | :
will be made with a hot line clamp. (NOt& 2) | | [MG_M ammel Hug I “lj
3. Location of jumper to be determined g I | ‘ansultant TADD RBE! ] i
by the direction in which the line is ]
routed to maintain proper phase ‘ I I
placement, I
4. Screw, lag is required whenthe unit is n " e 24T ___{'/-\:;_ E =t i_ ________ A
installed on wooden pole only —] / T I i_
| p E g P LAN I
ITEMIMAT. CODE[NO MATERIAL ITEM|MAT. CODE|NO. MATERIAL
a Cl 6 [ Insulator, pin type i B32 4 | Bolt, carriaqe, 3/8"x4 1/2"
b B2 1 | Pin, pole top, 20" i/c |B40/B4/4.1-4.3) 2 | Screw, lag,1/2"x47 Bolt, m/e, 1/2"x 6"- 12"
c |B/6/7/8 | 4 | Bolt, machine, 5/8"xreq'd length | P | 15/i6 ‘Connectors gs required
d | B46/118 | 8 | Washer, square, 2 1/4" aq Jumpers and leods as required
f B1 5 | Pin, crossarm, steel,5/8"x10-3/4"1 bs |B33/34/35] 2 | Bolt, single upset .
q X1 2 | Crossarm, 3-1/2"x 4-1/2"x 8'-0" cm | C3/2 2 | Spool insulator, 1 3/4" or 3" dia groove
cu | B41/B41.1/B44 | 4 | Brace, Steel/Wood, 28" ¢ 1/4" ek Locknuis, as required
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 6.35/11 KV PRIMARY, 3-PHASE WOODEN CROSSARM CONSTRUCTION WITH 3-PHASE JUNCTION
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

s



2438 (8")

bR O Q€ TER wmiifive Frae 7 34900

o i
w2y || :
76 (3"
: '!/1‘1‘_3_2 t/'(T : 763" 207
152 (6") <1l 1
203 \ 152 (67)
P 1067 (3-6") g F | 1067 (3-6") :
| c-d-ek B 1
s AT
o S T |
ik g
e . g
N !
? x {750
g I £ |
\ \ f 1 |
I |
N |
6§ |
“n, L] o
I 5.l
\ 610(2) Ll g -
l i i
S~ \ ; i || - / e m
[
\ [ / g
o PP | :
— e —— . — . —_———— — — sl §'
L c-d-ek 5
i- |
P
| :
4 i R
610 (2 % (Ma Ivtozibur Rahmmad) (Md. Abdul Khaleque,
{ | Tananltan “nnsultant TAPP RRET
.
| | |
E oo (Md. Duhidul islam)
Fod g soneuitant TapS nee - M Ansanui Hague
A i ik onsuitant TAPR RRF wnsmanTAPRngIfI-
152(6")
- {/ (Debasish Chakfaport:
A~ 7 ] . REF
I TE: ?ﬁl (MdN¥lozamme! Huq{,-__ PD,TAPP
" . it { < pRe ape
1. Screw, lag is required when the unit is L.{::IJ onsultant A
installed on wooden pole only. |
Item|Mat. Code[Qty. MATERIAL ITEM Mat. Code |Qty. MATERIAL
a Cl 06 hl'lsuIamr, pin type p 15/16 f Connectors as required
b B7 0T T Pin, pole top, 20" ag - | Jumpers, and Icads as required
c BE7T8 04 | Bolt, machine, 5/5" x Required length cm | C3n 02| Spool, Insulator, 1-3/4" or 3" dis_groove
d B46/TT8 | 08 | Washer, square, 2 1/4" ek | B S0 12_ [Locknuts as rquired 5/8'g
f BT 05 | Pin,crossarm, steel, 5/8" x 10-3/4" ¢ [Ba4143 02" Bolt, M/C, 1/2"x 6"~ 127
8 X7 02 | Crossarm, steel channel 4" x 2" x 2" x %" x §-0"] cu |B42/42.1/45 02 | Brace, steel /Wood 60" span
C B3 04 | Bolt, M/C, 1/2"'x 11/3 bs |B33/34/35 02 | Bolt, Single Upset, 5/8"'x as req'd length
i B40 02 | Serew, lag (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/ 11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X7) CONSTRUCTION WITH 3- PHASE JUNCTION

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BRIERB Board

6

C25A Sheet 1 of 2

Revision Date: Tuly 1980, June 1981, August 1989, July 1995, August 2013, February 2020




|
|
@l -

;_

|

|

|

|

|

|

l

I

N
e

|\ 

ol

.\

|

|

|

pnsu It

940 (3-1")

el e e

2, For 300’ R.S with Penguin conductor,
3. Intersection angle of lower circuit may vary from what is shown on this dwg.

4. At certain location this connection will be made with a hot line clamp. i 50\‘
5. Location of jumper to be determined by the direction in which the line is (Debasisn Cndkraportty

is routed to maintain propoer phase placement, =
6. Normally Bolts will be used to fix the hardwares. If not possible PD,TAPP, BREB.
use of G I Clamps (duly approved by BREB) shall be made.

(Md. m

4 TA APP ARET

(Md. Duhidul Islam)
Sonsuitant TAPD Rpr

— — — — —

an)

| T ( % B |
i

Note :- (Md. Abdul Khaleque) M

L. Brace holes at both end should be 11/16"¢ TOP VIEW Consultant TAPP. BRER Cén sﬂl gﬁ%’; ;)1&;;;;;1

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X7) CONSTRUCTION WITH 3- PHASE JUNCTION

Date of Origin Reviewed by Approved by Revision No.

Unit Designation

July 1979 BREB BREB Board 6

CZSA Sheet 2 of 2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




=

-

NOTE:

1. Screw lag is required when the unit is installed |
on wooden pole only.

nenltang TAPP B

(Mé Abdul Khal

|
e o
102 (4") l’ i_ :
{ i
Pl
152 (6™ il 152 (6")
76(3") 76 (3" ol | | 76 (3") 763
457 (16" 610(2) vl I I I 610 (2)
|| c-d-ek I
. O ;
é{) 483 (17" 152060 483 (1-7") *"“g
8 r 4 S q
=8
=5
&
£y
610(2)
=
. bl . S'a
FiE I 80 w O
E & Sor 5a
— s L i i s %
it 4 g3 25
| ES g0
ke A B - 2
i =% o
[ | 34 ! S
B | -
610(2) | ] N gm_ 4
[ 2 L =8 w
(1 § o BE B
@10 PR
E 54 <5 d
b EF 2
13 : % &
g |
152 (6") - it E
B
5
)
Y
2

(Md. Mozibur Rahman)

“pnsultant TAPP RREF

ITEM |MAT. CODE | Qty. MATERIAL Item | Mat, Code |Qty. MATERIAL
a CT 06 | I[nsulator, pin type p 15/16 - |Connectors as required
b B2 01 | Pin, pole top, 20" ag - |Jumpers, and Tcads as required
c B6/78 04 | Bolt, machine, 5/8" x Required length em| C3R 02 | Spool, lnsulator, 1-3/4" or 3* dia_groove
d B46/T18 08 | Washer, square, 2 1/4" ek B 50 12| Locknuts as rquired 5/8°% =5
f Bl 05 | Pin.crossarm, steel, S/8" x 10-3/4" o bs | B33/34/35 02 | Bolt, Single Upset, 5/8"x as req'd length
[ X6 02 | Crossarm, steel channel 4" x 2" x 2" x 4" x 5-0" < B3 04 | Bolt, M/C, 1/2"x LI/’
cu B41/B41.1/B44 | 04 | Brace, Steel/ Wood, 28" x 1/4" i B40 02 | Screw, lag (for wood pole only)
¢ B4/4.1-4.3 02 | Bolt, M/C, 1/2"x ¢"- 12"

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/ 11 KV PRIMARY, 3.PHASE STEEL CROSSARM (X6) CONSTRUCTION WITH 3- PHASE JUNCTION

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BRERB

BREB Board

6

C25B

Page 1 of 2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




> M
St Secy, (Board), g%

(Kamryt Ahsan

Ass

aﬂo@l
N o®
TOP VIEW ﬁzb‘\ 5
o «\v
Ahsanu) Ha

Note :- : (Md. Am:] Cl'*le

o fTJ\T’T’ neRE
1. Brace holes at both end should be 11/16"¢ CU“““"“‘””" RREB "“"’“"""

2, For 150' R.S with Penguin conductor, :
3. Intersection angle of lower circuit may vary from what is shown on this dwg, o
4. Al certain location this connection will be made with a hot line clamp. e Md. Duni ‘
Rahm: . Duhidul Isla
5. Location of jumper to be determined by the direction in which the line is ,,(M h Ti}ll?r‘j: DD mgn}:'i:. '10575”]{3,-” TAPP ng"t. (Md. zammeini’
is routed to maintain propoer phase placement. onsultant menltant TAPP RR

6. Normally Bolts will be used to fix the hardwares. If not possible
use of G | Clamps (duly approved by BREB) shall be made.

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6,35/ 11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION WITH 3- PHASE JUNCTION

Date of Origin Reviewed by Approved by Revision No, Unit Designation

July 1979 BRER BREB Board 6 C25B

Page 2 of 2

Revision Date: Julv 1980, June 1981, August 1989, July 1995, August 2013, February 2020

T T



-

lMﬂ\"' Toeis

“aentifant.

Y)Y O @Y O/ SAIfTS e 7R 33900

\ e
D
=} %gé
S S
} £}
,/'-"-
)
T —ileE
- .
Izosdion)of Guy |
Note 4 / g | |
/ Neutral Ta \ | P / |
L Ly P ; (Note 3) [
. h"\-. .-rA b
. | ~|pr—flr- &
B / ’ I | J/ N | | b
o—d—ek P i
il WiE %
ek—d n—d~ek I
s bs | I
Front View >, | . ; Tap
. | = 1 i
NOTE . [,%x Lhi/ }jﬂiﬂ |
1. Top toke-off angle between top “+—@\}\ - T e | J[ }{— o (@—.-—
and bottom circuit may vary from T g t + 1
whal is shown on this drawing. i l L’-T ]
. At certain locations this connection Eg c-d-o( { ] I
will be made with o hot line clamp. &
. Location of jumper to be determined %ﬂ: l P (Nite.3) g i < 1 | ©o
by the direction in which the line is / | II !
routed to maintain proper phase placement | i M
4, Refer to C7 drawing for deadend . Note 2 ] ao |
requirements, —_ [ / ! i i
5. Serew lag is required when the unit is installed g / / T
on wooden pole only. 5 i /J\&;-:l:q I] W_ o .L ..O_p_j_.
[ | L f
l \ y ¥ ]
I i | ‘I‘f Top View |
ITEM| NO MATERIAL MAT.CODEINITEM | NQ.IMAT.CODE
k | 6 | Insulator, suspension C10 I 3_|B81/132/133 |Clamp, deodend .
a | 4 I'Insulator, pin type Cl: i 6 B32 Bolt, carriage, 5/8"x4 1/2
b | 1] Pin, pole top, 20" B2 c 3 | B4/B4.1-4.3 | Bolt, mfc, 1/2"x 6"- 12"
c | 31 Bolt, machine, 5/8"xreq'd length |B6/7/8] P 15/16 _|Connectors os_required
d [ 16| Washer, square, 2 1/4" B46/118/ ag | 3 | BS3 Nut, eye, 5/8
f | 3|Pin, crossarm, steel, 5/8"x10~3/4"] B1. bs | 1 [B33/34/35Bolt, single upset . o
q | 3| Crossarm, 3 1/2'x4 1/2'x8~0" X3 em [ 2 C3/2 |Spool Insulator, 1 3/4" or 3 dia groove
cu | B | Brace, Steel/ Wood, 28" x 1/4" BAl/41.1/44 || ek o0 Locknuts, as required
[ 1 | Bolt, Eye, as req'd length B18-22 [ 1 B73 Clevis Secondary, Swinging
i 3 | Screw, lag (for wood pole only)

BANGLADESITI RURAL ELECTRIFICATION BOARD

Unit Description:

6.35/11 KV PRIMARY, 3-PHASE WOODEN CROSSARM CONSTRUCTION WITH 3-PHASE TAP

Date of Origin Reviewed by

Approved by

Revision No. Unit Designation

July 1979 BRID

BREDB Board

6

C26

Tudv TORN Tomae 10R1 Avenet 1080

Ravicion Mata-

Tuhe 1005 Avieroet M2

Tahsanass 70760




2438 (B

ey
i 5 15 e
e |, } =~
1| )
76 (3") . & at | ’
BRI [ N S\ ey L2481
152 (6") / _ 03 ENE \ 152 (6
17 1067 (3-6") C (] 1067 (3-6") | B3
| |
P -
l'
BN e — e ——— l
! S -

\ 610

229 (9"

|
(>Position of Guy ——/

6

S

PD.TARP

| ue) |
(a.Abdul Khwioqi,
4 AlisanulHagque) , IOl 44
‘.rsﬂh‘!lﬁ‘;iﬁnffhm’. BREB® 4 : (B

pDed

182 6 ;'a:;;_ F &
(6" Emiais)
{ \ 55 3
2 EE
= o ' .
= - 3
—~ =z 57 B
=i = 2
= E =D t
Front View
NOTE: 1. Screw, lag is required when the unit is installed on wooden pole only
ITEM | MAT. CODE [Qty. MATERIAL ITEM | MAT. CODE| Qty.| MATERIAL
K CT0 06 | Insulator, suspension 11 KV ] B 3T/T33/133 03 |Clamp, deadend
a Cl 04| Insulator, pintype 11 KV p [5/16 - | Connectors as required
b B2 01 | Pin, pole top, 20 aa B 53 03 | Nut, eye, 58"
¢ B 6778 03| Bolt, machine, 5/8" x Required lengih Q B 13-20 01 |Bolt, eye 38"y
d B46/118 06| Washer, square, 2 1/4" cm Cin 02| Spool, [nsulator, 1-3/4" or 3* din_groove
f B 03| Pin,crossarm, steel, 5/8" x 10-3/4" ek B350/ 138 22 | Locknuts as rquired
] X7 03 | Crossarm, steel channel 4" x 2" x 2" x 4" x §'-0" bo B 55 03 | Anchor, shackle
cu B42/B42.1/B45 | 03 | Brace, steel/ Wood, 60" span bs B33/34/35 01 | Bolt, Single Upset, 5/8"x as req'd length
s B73 01| Clevis, secondary swinging, n B26/B27/B28 03 | Bolt, Double arming 5/8"
i B40 03| Screw, lag (for wwod pole only) ¢ B4/B4.1-4.3 08| Bolt, m/c, 1/2"x 6"- 12"

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV PRIARY, 3-PHASE STEEL CROSSARM (X7) CONSTRUCTION WITH 3-PHASE TAP

Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREB BREB Board 6 C26A ST

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




1067 (3'-6")

Consultant TAPP. BREF ~onciitant TAPP RRET

|
|
|
%
|
[
8
|
I

i
I
(Md. Ma{u@nmﬂﬂ; {Md. Duhidul Islam)_ - 1
|
|

1067 (3-6")

sonsultant TAPP BRFT  Cppeultant TAPP RREB

|
|
|
|
|
|
|
'.I\ " M ! (Depasisn 0 a;g%%@) {1
| 1
|
1
|

D TAPP
o Consultant TAPP BRET P

1143 (3-9") : i 1143 (3-9")

T —1
Note :- TOP k/IE W
I. Brace holes at both end should be 11/16"¢

2. For 300" R.8 with Penguin conductor.

3. Top take-off angle between top and bottom circuit may vary from what is shown on this dwg, (% amral Ahsan MO“;}EB
4. At certain location this connection will be made with a hot line clamp. Asst. Secy. (B““d}’ B )
5. Location of jumper to be determined by the direction in which the line is
is routed to maintain propoer phase placement LD BRGH) (;ﬂ‘é Wﬁ]am“ﬁ\‘) m 09900

6. Refer to C7 drawing for deadend requirements.
7. Normally Bolts will be used to fix the hardwares. If not possible
use of G I Clamps (duly approved by BREB) shall be made.

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV PRIARY, 3-PHASE STEEL CROSSARM (X7) CONSTRUCTION WITH 3-PHASE TAP

Date of Onigin Reviewed by Approved by Revision No. Unit Designation

Tuly 1979 BREB BREB Board 6 C26A Sheet 2 of 2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




!

e =
™
H— i N
0204m ||,
L %
i 145 | \ ;
152 (6™ o 152 (6")
[T 76037y | 76 (3 Lo 203 i e 76 (3") 763"
g R i o
457(1-6") 6102 4 : : 6102 | “]\_l | [ g
c-d-ek el | S
i peltr | ; A
wen gl wen & :
_______ = R e e =
e o7 —t E
Ii
~
28
=s)
610(2 5 § =
28 |
¢ 3
2 ¥
A ]
/‘“\.
L
e = 2
»|
220 (9")
2] -
e J g Z
Position of Guy . 5?: B
ar
= {14
610(2) gg 2 m
- ot o
<5 2a
55 B
Eg -
£ an
&
| gﬂg
= 52U el
152 (6") - gﬁ% = 33‘;
- gEa =8
R A E < =3
2F 5o 23
B+ == it
~ SE =2 i
S & g7 3
: | S¢ %
NOTE: o
1. Screw, lag is required when the unit Front View
is installed on wooden pole only
ITEM | MAT. CODE |Qty. MATERIAL ITEM | MAT. CODE| Qty.| MATERIAL
k C10 06 { Insulator, suspension 11 KV 1 B BI7T37133 03 [Clamp, deadend
a Cl1 04 | Insulator, pintype 11 KV [0 B3 06 |Bolt, m/e, 1/2"x1-1/2"
b B2 0l | Pin, pole top, 20" p 15/16 - | Connectors as required
¢ B 6/7/8 03 | Bolt, machine, 5/8" x Required length aa B 53 03 | Nut, eye, 378"
d B 46/118 07 | Washer, square, 2 1/4" 0 B 18/19/20 01 |Bolt, eye 589
f Bl 03 | Pin,crossarm, steel, 5/8" x 10-3/4" cm cin 02| Spool, Insulator, 1-3/4" or 3" dia groove|
g X6 03 | Crossanm, steel channel 4" x 2" x 2" x 4" x §'-0" ek B 50 20 |Locknuts as rquired
cu B41/B41.1/B44 | 06 | Brace, steel/ Wood, 28" x 1/4" bo B 55 03 | Anchor, shackle
s B73 01 | Clevis, secondary swinging 5 B73 0 Clevis_secondary Swinging
bs” B33/34/35 01 Bolt, Single Upsct, 578™x aqs req d Iengih n B26/27/728 03 Bolt, Double aming
¢ Bd/4.1-4.3 02 | Bolt, MIC, 1/2"x 6"~ 12" i B40 02 Serew, Ing (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

6.35/11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION = SINGLE DEADEND

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

C26B

Sheet 1 of 2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




1l At
¥

o
o
a
~
o/
610 (2 iy
P ™ E |
|
| 2
| \A
610(2) g
o
| 3
|
i T
B paman £
| B
E
o o
' 5
l 686 (2-3") !
Note :- Md. ﬁb‘}‘# ,i%‘%“??aﬁfn % _c §&3
1. Brace holes at both end should be 11/16"g0onsHa” \Debasish ChaKraportty) g S
2. For 150' R S with Penguin conductor.  PD,TAPP. BREB \ 5 2 \, =2
3. Top take-off angle between top and bottom circuit may vary from what is shown on this dwg, ) e =2 &
4. At certain location this connection will be made with  hot line clamp. 2 E§-
5. Location of jumper to be determined by the direction in which the line is 8% o5
is routed to maintain propoer phase placement. g =2
6. Refer to C7 drawing for deadend requirements, (Md. ul HaguR%B E L;' =
7. Normally Boits will be used to fix the hardwares. If not possible !flO\'lSlﬂlﬂnLTApP‘ '
use of G | Clamps (duly approved by BREB) shall be made.
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description:  6.35/11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION - SINGLE DEADEND
Date of Origin Reviewed by Approved by Revision No. Unit Designation
Tuly 1979 BREB BREB Board 6 C26B
Sheet 2 of 2

Revision Date: Tuly 1980, June 1981, August 1989, July 1995, August 2013, February 2020




o

),
P BRE

ul Isla

Bl

tant TAP

(Md. Du
onsyuitan
(Kamrul Ahsan Mollik)
Asst. Secy. (Boerd), BREB.

TOP VIEW ON X - X

10°~ 14°

‘Ansnitant TAPP BRER

L&I&ﬂﬁﬁ?ur Rahman)

SECTION B - B

B.50 ~ 11.50

BRACE CROSS
J\NG(F GAL. SHEET AS REQUIRED

TOP VIEW ON SECTION 2 - 2 ["“‘* A
B8 8
J8 |8 b | & |:> al |
] \‘! m
% 3.25 % | 3.25 |
I ' 10" ~ 1 4° !
I |
t t

3 x3 %3/8 18- 15"

L—-ﬁ-ﬁ

5 (META dulhhﬂl%-luei
7 Consultant TAPP.
! (Md. Ahsanul Hague,
A Consultant TAPP, BREF
. (Debasish Cljakrabortty,
. nnFEI
IEM | wno. MATERIALY AR BTN
MS rod, 1" dia x 4.5" long for RCC, as req'd
P Brace, gal steel angle, 3"x3"x 3/8"x15'-18" as reqg'd
y Pole Band, round, gal steel of diff. size, as required
& 02 Crossarm, Gal Steel Channel, 4"x2"x2"x1/4"x 16'- 18]
ré.' B1 08 Pin, Crossarm, Steel, 5/8'"x 10-3/4"
o C1 08 Insulator, Pin Type, 11 KV
FRONT VIEW C10 16 Insulator, Suspension
B26-30| 04 [Bolt, Double Arming, 5/8"x as required length
R PG | =
TR 02 | Bolt, Machine, 1"x as required length(gal)
:?i : Bolt, Machine, 1"x 2-1/2" (gal)
e ; 02 Pole, 60'-2
a [— G S —l r G i [ Lock Nuts , 1" grove dia, as required
i z . - I 2 B50/138 Lock Nuts , 5/8" grove dia, as required
b i = | RCC (1:1.5:3) as required
Il"
"3
551 3R
3.25 =
' ' " 325,
BANGLADESH RURAL ELECTRIFICATION BOARD
H corintion* £ . c A {3 ¥
Unit Description: 11 KV RIVER CROSSING DESIGN FOR 500"~ 890" SIPPAN
Date of Origin Reviewed by Approved by Revision No. Unit Designation
Tuly 1979 BREB BREB Board 6 C40

Revision Date: July 1980. JTune 1981.

Aucust 1989, Julv 1995, August 2013. Februarv 2020




Pole Ground

66' Min

%3:
4-1/0 MAC —= 2‘1‘\ 3
‘7’ o rr
] | ;
1 O ] ——— 2-12" Crossorms E
¥ 2 ‘
L——-' A6 5 |
A7 N |-—————| }.._ £ "i‘é %‘
Zm
O <4
5% B
(ot v ic
Md. Abdul Khaleque) = B E
Consuitant TAPP, BRER )
3 54
2
e
St ~
e 61 é/ 3
(Md/Ahsanul Hague,
Consultant TAPP BRF
> _‘!i— [}{:U8515 l1dli'l'dUU'|'—li-_
BREB
/ O \ PD,TAPP,
*| Pole <
e ho Specicl
= ? ! 3~3/4" x 40" D.A Bolls
O Rolled Threod
: HO Golv.
-
O
% , =
e
EQ
= =
- O_) E__%_
e = =<
po— | | 2-60' C1. 2 5_,%
EE
Ground e}
[ 38
5.
=
Concrete Form ~
2 _]_ }i&x: 3 A g;
-— ™ —— :
;: ,'3 —~———— Ground Rod ;jg
= —g . Wg’
S a* 6" Concrele /._
_/r . £

1:3:6

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: TEMPORARY SPLICED POLE FOR I1 KV RIVER CROSSING SPAN - 750'

Date of Origin

Reviewed by

Approved by

Revision No. Unit Designation

July 1979

BREB

BRERB Board

6 C41

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




3-4/0 ACSR

Sky wire 1/0 ACSR

o

o

Pole Ground

66’

~—— 2-12' Crossorms

Bog Shoe

10

L O
46" =
e [ P \l———-l
wd Ahsanul Haque)
oo kgnsultantTAPP BRE
Storm Guys | "
= “Abdul Khaleque,
Consultant TATID NRT
o |
O {Depasish ai‘éfa&onty.
ole <r 2 o
Sleps ho o
) f { 3-3/4" x 40" DA Bolts
O RO“ed T]‘Ireod
HO Gotv,
il : | m‘u-
{ ] \ %%
B 4
- o i EQ
) <
=S
— £
o+ oo 2-60" c‘. 2 . .
High Water )
=0
[
=
: St
: ) P j 3}
: i
)| o =
Concrele Form "
--i_ SRS 5 R 5- . g%
] d : R i
g ~ round Rod Sa
] 3¢
L Ehi
- :‘%E &€ Concrete g
—_/-"‘- 3 Soling d,'r

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

TEMPORARY SPLICED POLE FOR 11KV RIVER CROSSING SPAN - 600'

Date of Origin

Reviewed by

Approved by

Revision No. Unit Designation

July 1979

BREB

BREB Board

C42

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




A

it % o '
< _ . B i ~ [
>, Q) B
+
N /L\ b, ( > 2o
h_’
e - —— ()

AP

2 \E N
I I |
; 4= 4'=0" | 40" [
| | .
6 -~0" ! 6 -0 68 -0 | o
E I o
IR YR Y
.
|| ; L [ e &=
= - O — & ————{ri:
G | i ki T T i i
| } I } \ * ) <E§
! \ // | :;: ]
R SN > S 4 J_
RN L @ 4
E¥
=4 BR B E ; Kﬁf
ol [ ]| cace PR/ G, BEEEL Pl ! g5
55 BR } 11/16" DIA — L 2 31
£ ' fer =i
Eg 1] | O |1 B
B b | | LN 38 11.57) I | - : —~H]
< — = ! g4
(Md_Abdul Khalegue) 3 57
Consultant TAPP BRER f:a 83
i o]
NOTE: Screw, Iag is required when the unit is installed on wooden pole only. % ! = é
(VAU AASISATILL 5 Laku, B i J 2 C
Consultant TAPP. BREE [jepasish C[iakrabortly J
PD TAPP, BREB )
ITEM| NO MATERIAL CODE ITEM{NO. | ~npe MATERIAL _
{ g 1Pin, crossorm, steel B1 p 31 1-1_ |Compression nn 4/0)
c - [Bolt, machine (5/8 x12 x10") B6/7/8 p 1] lsedg Compression conneclor (1/0
m 6 | Boll, double orming (5/8 x207) B26/27/28 I 9 2 Crossorm, chonnel, gol. sleel
d | 20 |Wosher, square (2—1/4 x2-1/4") B46 | (4" x2"x 14" x 19
ex | 36 |Locknut, 5/8 dio B50/138 Il cu 8 |B42/42.1/45 | Brace, Steel'Wood, 60" Span (2" x 2"x 1/4"x 4.11')
gpo | B [Nul, eye, ovol, 5/B dia. B53 | 8 [ B32/B3 [ Bolt Carriage/ Bolt, M/C, 1/2"x 11/3'
bo | 8 |Anchor, shockle B35 ¢ 10 | B4/4.1-4.3] Bolt, M/C, 1/2"x 6 - 12"
| g {Clomp, tension B81/132/133 i} 4 | B40, Screw, lag (for wood pole only)
a Insulotor, pin Type C1
k | 16 linsulolor, “suspension C10 |
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: CROSSARM INSTALLATION ON TWO POLE CONSTRUCTION
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BRER BREB Board 6 C43
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




Md”Ahsanul Hagque)

Consultant TAPP. BREB
(Md_ Awul Khaleque) Debasish Chakrabortty)
Consultant TAPP. BRED : PD,TAPP, BREB,

AN AN

3

i
— -
et

‘300' ' 400’ ‘ 900'-890" f 400’ {300”
[ = = ' :

(Md. i\m«m} {Ma.i‘):mh PROFILE ’{5—/
(Md. NJozammel Hug)

Aonsultant TAPP BRER  ~angyitant TAPP BREP

sonsultant TAPP pRE!

RIVER CROSSING VIEW

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Deseription:. RIVER CROSSING VIEW 500' - 890!

Date of Origin Reviewed by Approved by Revision No. Unit Designation

Tuly 1979 BRER BREB Board 6 C44

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

- —




(o wesyy mawreyy)
(M d Umﬂ dd¥] jugjnsuo: uﬁw_w_rdm aavi JuBpnsus: Lm%%ﬁ dd V. $ubifibus,
n - \WMEISINRIUNA pa) i Ingizon piy
ONH [awwezpy “piy) SFInRILNG “piy) ey MQIZol ,EC

200" _ 250" -~/

—N

.

Py POLES
i “UE@_.__lm O\/ 2 @ 60 Ci 2
O Mmm M. “ Mmo v @ 30 C 6
” . N L i 3OLTS
T ® P T a T~ 2o we x|
* , m i w w i E Tnregded 12" both ends
i : ./ \\\ S : -
[/«\
: m.&&.a..r_ﬁn._ ks p= =
%%mé%ms&. :
AHMV/\./ 1 ddV.L1Uensuos
onber sy P T -
O ROE 00 POLE SPLICE
T o= 5 iR 1 50
PR et

C45

Unit Designation

KV RIVER CROSSING

Revision No,

FOR 11
750

SPAN
Approved by
BREB Board

BREB

Reviewed by

BANGLADESH RURAL ELECTRIFICATION BOARD

TEMPORARY SPLICED POLE

Date of Origin
July 1979

Unit Description:
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




.~ d 1 S k
o il
“”""' i e o . N |
| o 1
TR
t 1 f,’ii
i

ronsultant TAPP B

4 Abdul Khaleque)

i
VYN i
M REB g, Ahsanul Haque) ( gdgT op BRE

/
|
)6&? o= i
i
T 7 /o |
/ ,
/ E | C{'_'.‘
AT A Y g
/ / = S *
/ £y &
/ | 51 ) o
}p/ / : i JfE
/ —f
/ |
/ #t l 1 F £ g
/ / l | ) = gg
/ ) | ) 5@.
R E 3
f Ly :___ 5
A E §
4 5 | B
|
L~ | 1] -
L] D
:'m/ l'n'/ I 1
/)0("\) /‘M\ ‘”' ; { s g T ntd
: v L
) {r Rahmas) (Md. Duhidul Is) ’( it ‘o
QPW; RRER  consuttant TAPP ?Q&F[jfgﬁitan%a%ﬂpﬂgfg}ﬁi : &,3
|

Consultant TAPP. B

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

RIVER CROSSING WITH 50'-0" POLE

Date of Origin

Revision No.

Reviewed by

Approved by

Unit Designation

July 1979

BREB

BREB Board

6

C46

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




4/0 ACSR -

40/2
“z/

] =477

50/2 OR 50-1
—~Frome

MCM ACSR=-——eee——.

=B/ 2 OR 1
H-=Frame

]

| —— —=4/0 ACSR

A \ L e
| _“I E
| Hq 5
300° 400" 400" 300 g
= gi
4/0 ACSIR e 47 MO M ACSR*@‘——"“"“ '""—'""""4/0 ACSIR
7 - 80/2 o
14 - krnﬁ\c ’\ \3 Fds E{i'{()"/ﬂi
0 DE

RSN e o

2-60/2 G g e
1-Frame ’//‘— Pf:_ Ff:r((.';{n.?c
H:;f[())/r/n?c \ 2-40/7
BE / mh_u I;)lrcgﬂlr}
Y O ,
B |
300° 300’ Joq! 300 | 300
T | i
4/0 ACSR ~ 477 MCM ACSR 4/0 ACSR
2‘*80/2 2 -BO/2? i
i H—Frame -F ro/r:'\e = 2
2-40/2 - 40/2 EF
H- Frame ﬁ//_' H-fromc B g
5 dul Khaleque) / DE 33
Consuitsat TAPRBREB iy =
\ =R
e | ﬁé/ o T
| &|  (Debasish Chakraortty:
(Md. Ahsanul Hagque, 5] _
" onsultani TAPP BRER PD,TAPP BRES .
j: 9
/ | i
. . ;
300' 400’ 400° 300"
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description:  RIVER CROSSING WITH WOODEN POLE
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 C47
Tole 10QA Tunn 101 Avveed 1000 Tule 1008 Aviriot 9017 T akoeecacae. ANAN

e




€348 ddvl Ja
{A0qenieyn ysisegac

addd dd Vi ssvijsasy,
muwu_ﬁwwﬁﬂ.iv

20

138y ddvl JNERRsUC

(weys| npiung “piA)

A

el

o5 L LS o G AT

{onbey OBl g

—t

47344 ddyvl Juejynsuu
(bnH jswwegopn DA}

—

JHUY ddv.i WEIPESEG,

LY

(oeuqey NQIZOJ PN

% » : =
_ 00E g DDE
2.4
e : ._ : § TP
3] (=] [T ]
[ (2]
o
putd
w : : :
o o . £ 8 =2
” 2]
400" 400" 400" 22250" 400" Y <00 400"
CwT
TOWER SPAN WT ESTIMATED COST (Tk.) SPAN TOWER HT
RC 1000 48 TON 1,72,000/ - 1L = 1000 H = g0
AC 1000 8.5 TON 34,000/- s 2.7 = 1200 H = {10’
RC 1500 6.8 TON 2,72.000/ - 3.7 = 1500 H = 130
AC 1500° 3.0 TON 1,20,000/- 4 = 1800 H = 140"
RC 2000° 9.0 TON 3,60,000/ - S.L = 2000 H = 180"
AC 2000 3.0 TON 1,20,000/-

BANGLADESH RURAL ELECTRIFICATION BOARD

RIVER CROSSING 900" - 2000' (BY TOWER)

Unit Deseription:

C48

Unit Designation

Revision No.

Approved by

BRERB Board

Reviewed by

BREB

Date of Origin

July 1979

August 1989, July 1995, August 2013, Februarv 2029

Revision Date: July 1980, JTune 1981,




s o | g
! ’ E |
|I 'FH:( — e m— — o — — —
| e ! A e
o 2 - ; e e
\ il
N _,.—-'r [ ‘
[ = - 4 :
i i ™ |
| I “i‘j‘“ ~ ‘L_:_ oo | AP
| " A
= :.(Q = - 7 i | i ==ty
| SR e =2 emame
; - 5 l l i) = ; _|____‘ I ‘._’/
- e N RN <> i ] ~ b o
i = = 3 - 5 , N - ] . ! o
: : * & 1T 4 L ‘Eﬁ ' I &
A% | A -!J I -
,l i \\\ l I W i - Mo o
g (8" S Py pief t%) ; o l 3
L B [z 8“ i . L;I l | "&
| AN : - ~ d E
f - 7 ¢ 3 2
| | |
= 3 | =k
{ S . 2,
o~ &z -t 5
= (o
'
i 3= 4" I 12
| oA
| [ 11 .
11 o
o ) >
B R L 3"‘
.-: | /}_.\_ '.:‘\.:,'- 1 .-;_;._ X
! T, P i A — [ I
oy { = - g
.! L Il A jliRg 0
o= L — SR e SRR S S S S ——
St - et bed | ~
I P ;ﬁ b | gt
i | s ek
|J ‘ =
{;»’
" 4 s
—~ . ’ I =]
M o om roTe L/d (Md. Duhidul Islag), (Md. Mbzammel Hug), L_d
one Consuitant TAPP RRE" onsultant TAPP BRF
%W/ 0oy
NOTE: Screw lag is required when unit is installed on wooden pole only, (M ul Khateque, Denas\‘é“ BRE‘:
Consultant, TAPP, BREB o, Kusanus tiague, ﬂ TpP
% I 3 : T ﬂPﬂR—F“——— B
ITEM | MAT. CODE [No | MATERIAL ITEM [MAT. CODE | Vaoﬂ? MATERIAL
! 7 ' Insulator, Pin Type £ X2 Crossarm, 33}4".\431’4 x 10°-0"
b ' B2 1 | Pin, Pole Top, 20" i B32 4 Bult,(aumge 38" x 4-1/2"
3 /4.1-4.3| 2 Bolt, Machine, /2" x 6" - 12" j B4 2 Serew, Lag, 1/2" x 4" (for wood pole only)
c B6/7/8 4 | Bolt, Machine, 5/8" x Required Length Cu B42/B42.1/B45 1 Brace, Steel / Wood, 60" Span
d | B4 2 | Washer, Square, 1-3/8" Dinmeter Cu | B41/B41.1/B44 2 Brace, Steel / Wood, 28" x 1/4"
d___ B46/ 118 7 | Washer, Square, 2-1/4" ee 1 Letter N With Nails
f Bl 6 | Pin. Crossarm, Steel, 5/8" x 10-3/4" ek Bs0 | — | Lock Nuts, 5/8" Bolt Size, as required
8 X1 1 l Crusmlm, 312" x4-1/2" x 80" | 0P

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV PRIMARY, 3-PHASE WOODEN CROSSARM CONSTRUCTION DOUBLE CIRCUIT TANGENT

Date of Ongin

Reviewed by

Approved by

Revision No, Unit Designation

July 1979

BREB

BREB Board

' DC-C1

Eevisiun Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




R i R A e e e T O o® ]

TOP VIEW

BR) T [@E HSR Wi PaRg 7 29100

2438 (8"

Lt )
6 (3"} . 7630y 70037 ]
il 1067 |3-6") -+ o 1067 (3-6")

152 an/i‘* wixy) | T EERT
it 2 | ‘I‘_“ P 3240
@j?‘g o ! o

I
|
: : ] [ 1 I . ! |
._....IT_.._..D._.. i "‘“‘_.l T 1 g 1 i st 1 iy e A+ &bt E..’r-u e *v#'_.l_ e S o S o '_.,._I_ —_— _LL_
i | S | 1 i)
5 h=4 {11
|1
i [
8 O
i
[* 4 G
| | =
1 | | &
I [ | : k =%
- | | | =
“kt.- I I o4 Er
*kt.-1 N - Ckt.] ' 1a
; =
g £s
MV =
| Atisan Moltik)
:!lﬂ“ﬂ 0
kg 3 ) ¢ :)& BREB.
c-d-ek I |-—I—-*-—| Asst. Secy. (Boarc), B
d‘ S |' il d 5
e — N— !
. =4
Ckt.-2 m» i
= ¥
f-""
, 85
Notes :- 5 E
|. Brace holes at both end should be 11/16"¢ : | c =] z
2, For 300' R.8 with Pinguin conductor : E o e 22
; d. Abdul Khaleque, ; ul Haque) K~
3. Normally Bolts will be used to fix the hardwares. If not possible I I | (MsultanLTApP» BREB "grsglgg&??ag;ﬁf S £
use of G I Clamps (duly approved by BREB) shall be made, o e _-_l SRR o o ___._:.-‘__ PR | -.: §
1. Screw lag is required when the unit is installed on wooden pole. i W P)‘:’{c
c-ek-d— i ‘ ; T om
D
ITEM [MAT. CODE] Qty. MATERIAL ITEM |MAT. COD ~co  MATERIAL
a 53] 06 Insulator, pin type cu B42/B42.1/B45 ] lgmg‘. s.iee! / Wood, 60" span
cm il 01 | Insulator, spool T B 06 |Pin,crossamm, steel, 5/8° x 10-3/4"
g B 6/7/8 02 Bolt, machine, 5/8" x Required length ek B50 /138 09 |Locknuts, 5/8" balt size
g g; ?12 Crossarm, steel channel 4" x 2" x 2" x %' x 8-0" bs B33/34/35 01 Bolt, Single Upset, /8"x as req'd length
Bolt, M/C, 1/2""x 11/3" d B46/118 05 Washer, square 2- 1/4"
C B4/4.1-4.3] 2 Bolt, M/C, 1/2"x as req length i B40/ 02 | Screw, lng (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:  6.35/11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X7) CONSTRUCTION
DOUBLE CIRCUIT -TANGENT

Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 DCC1 A
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




~

_1s2e)  127(87) 483 (1'-7") 4B3 (1'-7") 127(5") 152(6)
) N T | i3 763§ 760"
= L |
TOP VIEW
A 1524(5")
7763") 7507 763"y
‘L\ [_-_l o 612" o " 61002") "’“ L o
| 152 kis) //‘ | ‘ | 3
T 229¢9" -d-ek
‘ | ok 483 (1 ¥ ! jL / fa.a(ﬁ.:r--} 5
% i ‘% 4
B, co ! : [ B
{ e ~8 — | E
i
| N\ a
ol g @
{
Ckt.-1 Ckt.-2
1219(4") E
i L‘“ c-ek \% |
[ ,- : S gedeek [ b |
ik !
pie e pre 7
SRR GOSN S T i R RE— @J.___.__ AL Uy s
A T :?/*’\‘Egj
| I
‘ | 'E : \L-c 1 a
22909 | J—— Y
Plogod
EEA \ 25
o | g4
E 7
| E i
Ckt-1 12194 Position of guy 1 %{ Ckt.-2 2t
¥) o7
NG g MO 27
1O | : 3RS0 e ® =
] (s ey, B
| i Msi. :
I | d 5 =
| ‘ | _,3;515:
T T T @ i ! i Eix
—e e e ..(p.“,-....”“,_._ o 7] .]_,.., @t —— — saiigehed _’/% —eF Lo @0
)t B e N Lk L 8| .5%
| ] | f —l g -
| ‘ | 5
L
I | ==
| | ‘ | %
| | 610(2)
Position of guy —I | | .
I l Md Abdul Khaleque; a
i | Fn Itant TAPP P -Ahsanul H ue, [
Niotes (1 nsultantTAPP RREF Consuitant TAPR BREN. =~ G 7
1. Normally Bolts will be used to fix the hardwares. If not possible M —._ | | t
use of G 1 Clamps (duly approved by BREB) shall be made. l; F mcluu{__.“__._ A e S e g e e o 5 S
2. Screw lag is required when the unit is installed on wooden | ‘ | c-ek-d =
le only. j ; s
S (Deba&sh Chagabortty
Front View PD,TAPP, BREB
ITEM | MAT. CODE| Qty. MATERIAL ITEM |MAT. CODE| Qty. MATERIAL
a Cl 06 Insulator, pin type cu B41/B41.1/Bd4 06 | Brace, steel/ Woud, 28" span
cm c23 0l Insulator, spool I Bl 06 | Pin,crossarm, steel, 5/8" x 10-3/4"
C B3 06 Bolt, machine, 1/2"x 11/ ek B50 13 |Locknuts, 5/8" bolt size
c B 67778 03 Bolt, machine, 5/8° x Required length bs B33/34/35 01 Bolt, Single Upset, §/8"x as req'd
[ X-6 03 Crossarm, steel channel 4" x 2" x 2" x 4" x 5'-0" d B 46/118 07 Washer, square 2- 1/4"
¢ B4/B4.1-4.3 03 Bolt, M/C, 1/2"x as req length j B40 03 Screw, lag (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

6.35/ 11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION DOUBLE CIRCUIT- TANGENT

Date of Origin

Reviewed by Approved by Revision No. Unit Designation

July 1979

BREB BREB Board 6

DC-CI1B

Revision Date: July 1980, June 1981. August 1989. July 1995. August 2013, Februarv 2020

e ee—————




219"

1'-8"

33"

Split Bolt

A e T e,

S_0"

o
b
g
L ;
s
bptit
0 At
O : e
o b )
= 1' | \

CLAMP TYPE
CROSSARM PIN

wooden pole only,

1. Do not exceed a 25" lead for top circuit down guy,

2. For turning right hand angle maximum 30"
3. Screw lag is required when the unit is installed on

(
Ca

“npsnitant TADP RRER

M #6T Kinloque,
mhaﬁt.mm' bz

|
| b
e B ol s BIOR i D I i} o S 31" I L
| i ]
l L ! “CH{’ ¢-d —:F-d""'w
‘ I ' ﬁ‘ I P T , e g
i I = P, i = l/ . j-m'- : r‘::!ﬁ’ r . §
[ ——_~ e P | e ~&
! - isar g b ) -
Sl - - | / - ¥ | e ST ﬁg
L S S - - il
L [ T ! 2T - 5
|“£_J R N j : ' e 5;
| 5 i <
. e cu
Position of Guy
o
HOTEN: (M Mosfour Rahman) (Md. Duhidullslam), - I\ﬁnzamme]m
rADD f

‘onsuitant TAPP RRE!

ITEM NO.|  CODE | MATERIAL ITEM | NO| CODE B e

i 14 I Cl | Insulator, Pin Type g |4 [X2 Crossarm, 3-3/4"x 4-3/4

ce 1 Letter N.  with nails

¢ 2 T"B4/B4.1-4.3 | Bolt, machine, I12"x 6"- 12" cu_ | 4 |B42/B42.1/B45 | Brace, Steel 7 Wood, 60" Span
B ] Bo6/7/8 Bolt, machine, 5/8"x reg'd length (for wood pole) fg 14 Pin, Crossarm, Steel Clamp Type

d 8 B48 Washer, round, 1-3/8" diameter ek — | BS0/138 Locknuts, as required

d | 58 | B46/118 ‘Washer, Square, 2-1/4"x 2-1/4" n 10 | B26-30 Bolt, Double Arming, 5/8"x as req'd length
aEE B32 Bolt Carriage for wooden crossarm only) i =g 4 | B40 Screw, lag (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV PRIMARY, 3-PHASE DOUBLE CIRCUIT- GRADE B WITH WOODEN CROSSARM CONSTRUCTION 0 To 30° MAXIMUM ANGLE

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

6

DC-C2(L)

Page 1 of 2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




| 8" | 2!_9" szl lr_sn | 1'-5" I 3'-3" |4"
.—. 1 ] i = [ ]— |
=y 5 = . n A B
f Iy S B ;ﬂ
Top View
o (4T 1o SEe s PIae M 2900

f ™ s

U/\/ M / (Md. i CS‘M&":&W

Rahman (Mid. Liung & & t TABD NOF
(M. Mozibus 15 “R‘"]i‘ onsuta ,L UnJll Is Jlapnc];[-; nsulta

‘ansuitant

éﬁ

r‘"gﬂqu]mm TADD RRFP

ihakrabom\“

D TAPP ARET

-

- {Ramra! Ahsan Mollik)
Secy. (Board), BREB.

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV PRIMARY, 3-PHASE DOUBLE CIRCUIT- GRADE B WITH WOODEN CROSSARM CONSTRUCTION 0 To 30 MAXIMUM ANGLE

Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 DC-C2(L)
Page 2 of 2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




e 3 '-9 : l..

W

/-

31" | = | R A |

1'-5"

[

2"'11"

] |_5" =

4

|

Split Bolt

—

’—«b n-d
|

-

n-d

ol

[7

Position of Guy

3!_3 " l

e-d

NOTES:
1. Do not exceed a 25' lead for top circuit down guy
2. For turning right hand angle maximum 30%

3. Serew lag is required when the unit is installed on

vaden pole only,

Position of Guy

Asst. Secy. (Board), BREB.

Ahsan Mollik)

CLAMP TYPE
CROSSARM PIN

eSS0 cha

Al

Md
“pna

ul

d. Abdul Khaleque)
ltant TAPP RRER

M
Consu'

iMd. MoYammeliua),
nsultant. TAPP, BREFR

wey B

-

]

Md. Mozibur Rahman)
anenltant TAPP ORER

ITEM| NO. CODE MATERIAL ITEM | NO. CODE MATERIAL
a 12 = Insulator, Pin Type ' 4 X2 Crossarm, 3-3/4"x 4-3/4"x 10’-0"
em 1 C3/2 Insulator, Spool Type, 1-3/4"/ 3" grove din
€ 2 B4/B4.1-4.3 | Bolt, machine, 1/2"x 67- 12" da 1 B72 Bracket, Secondary
¢ 2 B6/B7/B8 Bolt, machine, 5/8"x as req'd length cu 4 B42/B42.1/B45 | Brace, Steel / Wood, 60" Span
L d 8 B48 Washer, round, 1-3/8" diameter fg 12 Pin, Crossarm, Steel Clamp Type
d |63 B46/118 Washer, Square, 2-1/4"x 2-1/4" ee 1 Letter N with nails
8 B32 Bolt, Carriage (for wooden crossarm) ek |- B50/138 Locknuts
4 B40, Screw, Tag (Tor wooden pole only) n 10| B26-30 Bolt, Double arming, 578" as req'd length

BANGLADESH RURAL ELECTRIFICATION BOARD

5 i g 0 0
Unit Description: 6.35/11 KV, 3-PHASE WOODEN CONSTRUCTION- DOUBLE PRIMARY sUPPORT () T0 30~ MAXIMUM ANGLE

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

6

DC-C2(R

Page 1of2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




4" 3-1" | o VRS L. S 211" i B

O = — ) ® s ” — |
b=
O = O — i D -
/-'\
Top View
ﬁ@w’v‘%ﬁ““‘m"
gy R S T
~
wid. Modarnmel Huqh iz D qu
S (Md. DuhidulIslam) ~gjpant TAPP. BR i Tavn kEh
(\1(1 L TADD H.R"‘P Consuitant TAPD R{gf‘ Uitan

TAnenite

/k-/’ Atsan MoTlk)
"(Kgmnﬁ 4 (;lREP.

i ul Hi Wcm tﬂy) Asst. Secy. - (Boart
co@n?{mnnwm% ol

BANGLADESH RURAL ELECTRIFICATION BOARD

: 0
Unit Description: 63511 KV, 3-PHASE WOODEN CONSTRUCTION- DOUBLE PRIMARY SUPPORT 0" To 30 MAXIMUMANGLE .

Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREB BREB Board 6

DC-C2(R

Page2 of 2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




R S e S S s e R e el _gi
L, i e W e g A
/ TOP VIEW X
2438 (any
T80 Taian 617y JeON [

/ fa U7 (3-A") 5 -L ) 1T 43 07)

132j07) I/' M— | I l 152?6')
A r'"*'-—-*H—J L c-d-ek
E//“—f | [ 299
iy ' 3
¥ A
““i !-w-a--— — e © Np—— e — - ‘ﬂ:’i‘
ﬁ_
g
Position of guy : 7 -2 1189990
. "
Ckt.-1 S e
- | (j
= @M@ﬁ(w e
ik : ! l g L P BRER ; BRER
TC | NS e
] 1' | T il B
g e e — e — e — e — — *"*"gj
: ]
= B =4
| |
B
I
KR a8
al | m
Ckt.-2 Position of guy ! } Ckt.-2 § g
|
Notes :- |[ ‘ e g =)
! Rrace holes at both end should be 11/16"¢ [ iy
or 300 R.S with Pinguin conductor. U &
S/ roove of insulator must always be larger than ) " 7
the_..ameter of conductor including armor rod when required. PR (M. Duhidul Islant ) <+«
4. When the transvers load is more than 500 pound per pin, | (Md. Mozibur Rahman)  r~oneyitant TAP o R
install 24" x 2/4" x 3/16" washer on the top of the crossarm for each pin. I ¢ Shpenltont TADD ORER.AEESERETR U
|
|

5. £ the load is more than 750 pound, use steel clamp type pin as shown in C-2-2,

6. If transvers load exceed 1000 Ibs/pin, use vertical construction.

7. Normally Bolts will be used to fix the hardwares. If not possible
use of G [ Clamps (duly approved by BREB) shall be made.

8. Serew lag is required when the unit is installed on wooden pole only.

T (Md. ﬁ
sonsultant TAPP BRF?

— e ul Khaleque)
oxammeTHud) Consultant TAPP. BRER

[TEM | MAT. CODE| Qty. MATERIAL ITEM | MAT. CODE| Qty. MATERIAL
a Cil 06 | Insulator, pin type cu B42/B42.1/B4S | 04 | Brace, steel / Wood. 60" span
cm Cc23 0l Tnsulator, spool i Bl 06 | Pin,crossarm, steel, 5/8" x 10-3/4"
¢ B4/4.1-4.3 02 Bolt, M/C, 1/2''x 6"- 12" ck B50 /138 31 Locknuts, 5/8" bolt size
B X-7 04__| Crossarm, steel channel 4" x 2" x 2" x /4" x 80" bs B33/34/35 01 | Bolt, Single Upset, §/8"x as req'd length
< B3 08 | Bolt, M/C, 1/2"x 11/7° d B46/118 01 Washer, square 2- 1/4”

i B40 02 Screw, lag (for wood pole only) n B26/B27/B28 06 Bolt, Double nn‘ning

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/ 11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X7) CONSTRUCTION
DOUBLE CIRCUIT - 0° TO 30° MAX. ANGLE

Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREB BREB Board 6 B &% &)

A

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




483 (1'-7) 483 (1°-7") 117 i5)

152 (6™) 127 (5")

152 ¢6)

3R (107 i IR (1-37) |
! !

T6(3") 15(.\-'11
|0 760

TH(A Y| TH(3")

TOP VIEW

1524 (57}
T6(3") s 263"}
—1\ T iy . - | ; 7603 j-w
610 (2) — t= 610 (27) ]
152[(6™) | | i [
L} i
] 229 (9" | c-d-ek
o men L e G :

Ckt.-1

1219 (4"

Ckt.-2

Ckt.-1

1209 4"

Ckt.-2

. S— ..4?:‘\_:‘.;

Notes :-

"

Asst. Secy. (Board), BRER,

(Md. Abdu]
ansultant TAI%hpg g%)B

Hugy
RRFET

-'19!_u 1 II_J}C-EL_
ant. TAPP®

{hid-
‘Dnsu

L}

1. Normally Bolts will be used to fix the hardwares. If not possible
use of G 1 Clamps (duly approved by BREB) shall be made. @9 =5
2. Side groove of insulator must always be larger than &
the diameter of conductor including armor rod when required. o
3. When the transvers load is more than 500 pound per pin, | i -
install 24" x 2'4* x 3/16" washer on the top of the crossarm for each pin. | | 3 i
4, g;h:zioad is more than 750 pound, use steel clamp type pin as shown in [ i it an 9 E
5. If transvers load exceed 1000 |bs/pin, use vertical construction, - da r@mxlrwl}: S—— oo éﬂ g
6. Screw, lag is required when the unit is installed on wooden pole only. -/ : i |f \c-ck- ) = s
cm L ]
ITEM | CODE Qty. MATERIAL ITEM| CODE |Qty.|" MATERIAL
2 Cl 12 Insulator, pin type Cu_ |B41/B4a11/B44 | 12 | Brace, steel/Wood. 28" span
cm C 23 01 Insulator, spool i B1 12 | Pin,crossarm, steel, 5/8" x 10-3/4"
c B4/B4.1-4.3 03 Bolt, machine, 112"x 6"- 12" ek B50/ 138 45 Locknuts, 5/8" dia
c BeIT8 01 Bolt, machine, 5/8" x Required length dg |B72 0l Bracket, secondary
B X-6 06 Crossarm, steel channel 4" x 2" x 2" x 14" x 5'-0" d B 46/118 01 Washer, square 2-1/4"
£ B3 12 Bolt, M/C, 1/2"'x 117 n B26/B27/B28 | 09 Bolt, Double arming,, /8" as req'd fength
j B40 06 Screw, lag (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Deseription: 635/ 11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION DOUBLE CIRCUIT - 0° TO 30° MAX, ANGLE

Date of Origin Reviewed by Approved by Revision No.

Unit Destgnation

6

BREB BREB Board

July 1979

DC—-C2B

Tolv 1ORO Tune 1ORT Anonet 10RO Tuly 1005 Avinet 201713 RWahwwaws 2070

R evicwon Natar




+

5" HIGHER POLE THAN Ckt. # 2

1

o-d-ek

r—"ﬂ~—?¢”ﬁﬂ“ e

3

POSITION OF GUY

onsultant TAPP RRER

nnsultakt TAPP RRET

TSR TADD RRED

Anaiant TAPY QR

- |
; [ f I
0 S ST S 5.0
- S 5
- a
; |y 5
b 1 1B POSITION OF GUY
| {4 7
- (oo — - - '
= .7 | 9'-0" Minimum o
i — L o — \ _-t:-'-
B i -
| s 5
| 1 -
| | g g
; | /
| - qff\ y
! o-d-ck = [~/ \ &
\\ __;g’)
4h' o \ B
bo /I.E_,;"
‘/ r_.
, MoTtik) ‘
Ard), BRER
Asst. Secv. (B e -~ ;
4§
- - - )@’ﬂcq‘
B L - o
S el
NOTES: ' \
1. See Drawing M41-10 for Suspension assembly details. i \
2. Install neutral on pole with bottom circuit. B3 B% m oI Wﬂfﬁ'\'ﬁ ﬁ@( '_?Olo\oo \
ITEM | MAT. CODE MATERIAL ITEM [ MAT. CODE | Qty. MATERIAL
d B 46 Washer, square, 24" bo B 55 07 __|Shackle, Anchor
K C 10 Insulator, suspension ek B 50 07 |Locknuts, 5/8" bolt size
Q B 18/19720 Bolt, eye, 5/8"¢ x required length m B 82/83/84 06 __|Clamp, suspension
cm CRISy Insulator, Spool, 1-3/47/3"" o, dia 3 B73 01 __[Clevis, secondary, swinging
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 11 KV PRIMARY, 3-PHASE, DOUBLE CIRCUIT 30° TO 60° ANGLE

Date of Ongin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

6

DC-C3

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




Ckt. # 1 POLE §' HIGHER THAN Ckt. #2
| oy
| i
aq ;l I Y@ | | o-d—ek
4'-6" 4'~6" [
\ | ! e -
| (o
& S B
e | i 5 ©
! 4 i | | =
E I L {
i Position /C_'f—‘?' op—e
il i
o . %-— 7 —_ o : ke e J i -+ 38
% ' P e 5
Guys ! | RO ™ | Ha
o ]—/ I : } £
. ; Y B E
- I | L(@) : S|2
1
5 1 TR
P ] Ll
2 | [ !
> 3
~ . 2 . N | I i
| l f I i
| i +
oq B2 | | |
\ L-
to fin) :
y e gt
/ | I :? ;‘_”q 2
d-ek f | = %é’ <
_ ;. S[E
T g
Pos:tmn c
a —ek
A b
ke
mxfsm:g!%% | r\ : : Hiven ~ g:
Asst. Secy. (Boar o &
_—— Ckt# 1 L5557 5 3
1) See Dwg. M42—11 for suspension assembly details. i 3] i ng
2) Install neutral on line pole # 2 four (4) feet from blue phase. S S|¢
3) Use item B132 for 4/0 ACSR neutrol deodend.
ITEM | MAT. CODE [Qty. MATERIAL [TEM | MAT. CODE | Qty. MATERIAL
d B 46 14 Washer, square, 24" | B 81/132/133 14 |Clam, deadend
k C10 24 Insulator, suspension ek B 50 14 ILocknuts
o B 18/19/20 14 Bolt, eye, 5/8"¢ x required length aq D 3/2726 07 |Jumpers , as required
p 1 1/68/4 07 Connectors, as required cm C2/3 02 | Insulator, Spool, 1-3/4"7 3" g. dia|
s B73 02 Clevis Secondary Swinging bn B85/86 04 | Clamp, Loop Deadend
BANGLADESH RURAL ELECTRIFICATION BOARD ]
Unit Description: 11 KV PRIMARY, 3-PHASE, DOUBLE CIRCUIT 60° TO 90° ANGLE
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 DC_C 4
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




TOP VIEW

e R ST
YRy TN @ HORTHAT T
1524 (' u
76 (3") I‘ ) N
a R~ , E
763" ThEiacai) ] ! 762 (2'-6") — T
152 (67) T6(3") | I 76(37) 152(6™) 5.
: 1 g
483 (17" | | 22909™  ag3q1-T)
- | I T | g
M P [ s VR Wi LG M R Som 8
Ckt.-1 o Ckt.-2
ity 1219¢4™)
Position of Guy

\M{l,x

Ansultant TAPP BRFF

Deadend Requirements
Conductors Assemblies
143 DC-C7 S
2#1/0 DC-CT&E 1-2 . 1219 (47}
34 4/0 DC-C7 & E2-2 Position of Guy
4 # 477 MCM DC-C7 & E 5-2 i
| 1 @
! | E T ek Fa
———————— e EES
i ) L
=H =
ol §
Ckt.-1 Ckt.-2 h=] =)
=|®
=i
O
Notes :- d
1. Brace holes at both end should be 11/16"¢ o . EE
2, For 300' R.S with Penguin conductor. i =3
3. For 300" R.S with Hawk conductor. Position of Guy 5 E
4. See drawing M42-11 for deadend assembly details. > L
5. Normally Bolts will be used to fix the hardwares. If not possible NG =5
use of G I Clamps (duly approved by BREB) shall be made. [ M =R
6, Screw lag is required when the unit is installed on wooden || i II - mﬂ W ?ﬁﬂ ; 1
) g o §
pole only | ﬁ [ o e e ""~:Cm"t. Seey. ﬁJB&Id,{'B'REB e CR
BN "™
k"Fj o-d-ek-s-cm
ITEM | MAT. CODE | Qty. MATERIAL ITEM |[MAT. CODE | Qty. MATERIAL
d B467TTE 31 Washer, square 2 1/4" I BEI/TIZ/T33 06 | Clamp, deadend
2 X6 06 Crossarm, steel 4" x 2" X 2' X V4 X 5-0" n B26/B27/B28 09 | Bolt, Double arming, 5/8" x Required length
cl B3 12 Bolt, m/e, 1/2"x 14! 5 B73 01  |Clevis, Secondary, swinging
k Cl0 12 Insulator, Suspension aa B 53 06 |Nut, eye, 5/8'9
0 B18-20 01 Bolt, eye, 5/8" x req'd Ienjth bn B 85/86 02  |Clamp, Loop deadend
[ B 6/7/8 - Bolt, m/c, 5/8"p x req'd length cm T o f77] ) 01 Spool Insulator, 1% 3* dia groove
ek B 50 46 Locknuts, 5/8"¢ cu B41/B41.1/B44 | 12 |Brace, Steel { Wood, 28" x 1/4"
i B40 06 Screw, lag (for wood pole only) c B4/B4.1-4.3 03 | Bolt, MIC, 12" 6- 12"
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Deseription:  6.35/11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION-
DOUBLE PRIMARY SINGLE DEADEND
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 DC—-C7
Revision Date: Julv 1980, June 1981, Aucust 1989. July 1995. August 2013, Februarv 2020




(Md. An

fﬁfrsuftantTAtgFf’:%qun

TOP VIEW
1524 (5 R
! =
702 420%) S 3 762 (2-6") %’E‘g
3" Tt (20" ' | 03 (26" 260" os
6437 BT R T : = T TS /—"'ll _5?55
| 55
I L 5
<3
__________ =
- S
C
=
i Ckt.-1 Ckt-1 GH
b o
| =io
iai o
Position of Guy ——/ 1219 () E g
N
, S8
| &X =357
= O
| K o¥- =5
| | | e g 5¢
Ll
i
Lo
==
\ 5
=
Deadend Requirements =¥
Conductors | Assemblies 23
3%3 BC-C7-1 @ Ckt2 <%
3#10 DC-C7-1 & E 1-1
I#4/0 DC-C7-1 & E 1-2
3#477 MCM |DC-C7-1 & E 1-2 INGS P!
| i
TE1 :- B q c-ek “ BE
1. Brace holes at both end should be 11/16"¢ | I cH
2. For 200' R.S with Penguin conductor. | | Belescn it Sl s s s 8L
3. For 150' R.S with Hawk conductor. ' ' o-d-ek-s-cm St
4. See drawing M42-11 for deadend assembly details. | | | SE
5. Normally Bolts will be used to fix the hardwares. If not possible : i { e
use of G | Clamps (duly approved by BREB) shall be made. R < an e, 81 Z.9 W Y00 &=, C
6. Screw lag is required when the unit is installed on wooden bt |\ A Lot (g9 3'53&1 Qi‘mm b M B
pole only. L/pl i e
ITEM | MAT, CODE | Qty. MATERIAL ITEM IMAT, CODE | Qty. MATERIAL
d B46/TTE (] Washer, square 2 /4" 1 B EI/T327T33 06 Clamp, deadend
[ X6 04 Crossarm, steel 4" x 2" x 2" x V" X 3-0" n B26/B27/B28 06 | Bolt, Double arming, 5/8" x Required length
c B3 08 417" Bolt, MIC, 12" 11/’ 5 B73 01 Clevis, Secondary, swinging
k C10 12 Tnsulator, Suspension aa B33 06 |Nut, eye, 3/8°9
0 B18-20 0l Bolt, eye, 5/8" x req'd length bn B85/86 02 | Clamp, Loop deadend
C B 6//71/8 - Bolt, m/c 5/8"¢ x rea'd length cm C 32 01 Spool Insutator,1-%" 3" dia groove
ek B 50 31 Locknuts, 5/8"p cu B41/B41.1/B44 | 08 |Brace, Steel/ Wood, 28" x 1/4"
¢ B4/B4.1-4.3 02 Bolt, M/C, 1/2"x g 12" i B40 04 Screw, lag (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:  6.35/11 KV PRIMARY 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION- SINGLE DEADEND

Date of Origin

Reviewed by Approved by

Revision No.

Unit Designation

July 1979

BREB BREB Board

6

DC-C7-1

———————

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

—



(Kamrul Ahsan Mollik)
Asst. Secy. (Board), BREB.

TOP VIEW
2438 (8")

i 119 (97) [
fn(’ }_,6""] —LLAG) r_f_ ‘} “’ 1219 (4) —\“ 82 —"‘—]“0".
182 | : : },JL,,.‘, f—\i? t-ﬁ'JL'

| X a
-
_@_ B | O ———— | ok
i
i | "
Ckt.-1 Ckt.-1
e — Position of Guy
Deadend Requirements 1219 (4
Conductors Assemblics ?/W '
243 DC-CT-A Ma it Rialeque)
26110 DC-C7-A & E 1-1 = Consultax, TAPF, BRED
24400 DC-C7-A & E 1-1
2#477MCM | DC-C7-A & E 5-2 ,’L)
| Debasish
. i . 20 TAPP B
‘@_ =
\
Ckt.-2
— Position of Guy
61042 e
NOICS - ,U_‘{B_;:
1. Brace holes at both end should be 11/16"¢ - ' T
27300 R S with Hawk conductor. < Dyr Rahman) 23
3. o drawing Md2-11 for deadend assembly details :l%\“-“ BREB ES
4 See drawing ES-1 for erossarm loading limitation. N
5. Normally Bolts will be used to fix the hardwares. [f not possible =4
use of G [ Clamps (duly approved by Res) shall be made. : 1§ : (Md 'Duﬁgm asiaml z
6. Screw, lag is required when the unit is installed on | e .onsuitant TAPP BRFT ’
wooden pole only. S 0-d-ek-s-cm
ITEM [ MAT. CODE | Qty. MATERIAL ITEM IMAT. CODE | Qty. MATERIAL
d Bag/TT8 01 Washer, square 2 1/4" T BRI 06 | Clamp, deadend
g X7 o4 Crossarm, steel 4" x 2" x 2" % /4* x B-0" n “B26/B27/B28 | 06 | Bolt, Double anming, 33" x Required leogh |
k Cl0 12 Insulator, Suspension ] B73 01— [Clevis, Secondary, swinging
0 18-20 01 Bolt, eye, 5/8" x reqd length an ~ B33 06 |Nut, eye, 5/8°@
ek B 31 Cocknuts, 37879 bn B 85786 02 [Clamp, Loop deadend
L cin 0] Spool Insulator, 1.%" 3" dia groove cu B4/ Bd2.1/B43| 04 W 50" Span
¢ B3 08 Bolt, M/C, 1/2"x 1173’ c B 6/7/8 10 [Bolt, m/c, 5/8" x req'd length ]
. B4/B4.1-4.3 | 10 Bolt, M/C, 1/2"x 6"- 12" i B40 04 |Screw, lag (for wood pole only)
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description:  6.35/ 11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X7) CONSTRUCTION-

DOUBLE PRIMARY SINGLE DEADEND

Date of Origin Reviewed by Approved by Revision No. Unit Designation

DC-C7A

July 1979 BREB

BREB Board 6
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




6" 3'-6" 36" 6" |
L N [ R =
1'-6" B g
=
§
8
<=
£y
' |
| o
Position of guy Ié/ \
when required . _— a i
X ' [ X ﬁ(\‘Jﬁ X -
I <y £
v : =
! Alternate Position L,d 3 l g%ﬂ
L
. ¢
= e L ‘% {a": §
4" ] 1" E’ o
I ! / )
pi= i) 1t
- T U< < B P
7 .“‘i‘.__ — - .r.I 67 l/" \.\ I_.._,..,._ i J’ £y — =
il e e i ( "= - 1 ————{( B8
1 LT ) g s ) ot i o oo
vos I y .
el LT \ =R
- o P LY g
g (10") g I 10 55
\\:!\. I ’l;/’/ “-\ g( ) ‘o::-;
'j 2 ffu‘\ cu S
Position of gu N : 2
(0 B LINE 2
| ]
Y u 5
Y af gr \| 25
£ Fieo S
N\ Em ; Ber
e ) N E :
= << ge
o 2F = =E
NEUTRAL JE§ 2t
NOTE: POSITION 32 5 E}?
1. Screw lag is required when the unit is installed on S0 i
wooden pole only, %
HEMMAT.CODE NO N MATERIAL MAT.CODE Tnar ] T MATERIAL
a | Ci 11| Insulator, Pin Type C10 24| Tnsulafor, Suspension
b B2 1 Pin, Pole Top 20" = 1 B81/132/133 |12 Clamp, deadend
< B4/B4.1-4.3 2 Baolt, _mnchine.'lr’Z'Lx 6"- 12" o n | B26-30 6 Bolt, double arming. 5/8"x as req'd length
¢ B6/7/8 2 Bolt, machine, 5/8"x as req'd leng(h o | BI§-22 2 | Bolt, eye, 5/8"x as req'd length
d B48 8 Washer, round, 1-3/8" diameter cu | B42/42.1/45 4 Brace, steel/ wood, 60" span
i Bd6 24 Washer, square, 2-1/4"'x 2-1/4" Po| 11/2/3/4 - | Connectors
f Bl 10 Pin, Crossarm, 5/8"x 10-3/4" ek | BS0/138 o= Locknuts, as required
[ X1 2 Crossarm, 3-1/2"x 4-1/27x 807 an | B3 13 | Nut, eye, /8"
I X7 2 Crossarm, 3-3/4"x 4-3/4"x 10'-0" bo | BS5S 14__| Shackle anchor
i B32 8 Bolt, Carriage i | B4o 4 | Serew, lag(for wood pole only)
em | C2/3 2 Insulator, Spool type, 1-3/4"/ 3" grove dia ¥ B73 ] Clevis secondary swinging
BANGLADESH RURAL ELECTRIFICATION BOARD
[ Unit Description: 6.35/11KV PRIMARY, WOODEN CROSSARM CONSTRUCTION, DOUBLE (_.'.lR(.fl?].T’
DOUBLE DEADEND, 10" TO 30" ANGLE
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 DC-C8 Page 1 of 2
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




bn
l
k
-
« XD \\%
5\ bo o]
\ o—d e -
aa -\ - _'\“"‘ - = 7
e 54 35
_( I \1 n- SR [ 1 = {{ \C - a=b g n—d—ek
6 N L7 \ Top
=X e | - - —+ - E &+ Ckt.
aq b "
ey - bo/
- f ——
| At
|
Neutral \ \ \ :

(Debasish Cham‘ggomy_ ortty)
PD,TAPP. BREB

(Md. Ahsanul Haque)
Consultant TAPP BRER

o
g
s =r
——————%r—o \?5
-~ -
T 2
L 3
=y ‘

d—ek— ;
oo"’;’f ‘Eh'
bo fg
k : =8
SECTION Y=Y 7 Ef_’-
fre—in B
- SECTION X=X 4 S5
\ \ \ B3
_ = €

BRS TY e s syl (ars 4 39900

o EC
NOTES : Q e
1. If the top circuit is down—quyed position the center phase jumper support S \ =8
insulotors on the side of the pole away from the guy. & I\.’gf
2. Do not exceed o 30 feet lead for the top corcuit down guy. cf' =¥

BANGLADESH RURAL ELECTRIFICATION BOARD <

£

oatDeerton 6.35/11 KV PRIMARY,  Double Circuit Double Deadend 100 To 36° Angle | \ 2
Date of Origin Reviewed by Approved by Revision No. Unit Designation -.'gi
July 1979 BREB BREB Board 6 DC-C8,,...,.c2 | X

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




L4 Ak -
i £ &
il %é
—— .
| E% 53]
152 (6") £ o
| s
e 457 (1-6" w
7601) e : I STO6Y) 263 (26m ) ] 763" g o
“;*[_%::r/ =] e-d-ek : ey |y 76 (3 152 {ﬁ_)": — gm
8 ~5
\ g d | )
% 483 {1'4’"1 11— 483{(1'-1" E‘m
=
= Py
Bc
<5
27
(=}
S
N =
55
i)
N 32
P\ 25
80
| ( OO
| o
e N o ‘Eﬂ;
} [ 1! 219y = E
\ Ckt.-1 ] Ckt.-1 S
| | o
N SR o
1 } o«
e [ | i o
P S fI
1 ! i 3
) 4t 152(6") 763" I ! | w0 w1 =
Section X-X : " =
7
| =
|
A i
» = =4
- i _ g ‘b
@4
= &
"z 24
DO g
e 7 Ckt.-2 S
e / = U
Position of Guy i L
Notes :- 5
1. Brace holes at both end should be 11/16"¢ | g =
TI50'R.S 11 KV with Penguin conductor, | P e £
s=..¢ drawing M42-11 for deadend assembly details. I | W%ﬂn Mofite) g g %
4. At certain locations this connection will be made with hot line clamp. | | o E £
5. Dc-c8-1 may be used for angles upto 45° install anchor shackles, X | | X S S S e g g‘ 3
one on each eye nut and eye bolt. | o =i
6. Normally Bolts will be used to fix the hardwares. If not possible | | og-¢ 2§
use of G [ Clamps (duly approved by BREB) Shall be made. aq | | _ 4 SIS Pl % »4900 =A
7. Screw lag is required when the unit is installed on wooden pole only, &3\} e W q\?__.—'éhﬂﬂh-_"‘““““'
ITEM [MAT. CODE |Qty, MATERIAL ITEM |MAT. CODE | Qty. MATERIAL
d B 46/118 22 Washer, square 2 174" 1 B 81/132/133 12" {clamp, deadend
a Cl 11 |Insulator, pin type |1 kv n B26/B27/B28 06 | Bolt, Double arming, 573"  Required length
¢ B 6/7/8 02 |Bolt, Machine, 12" x 6" 3 B73 02 |clevis, Secon:ary. SWINging
¢l B3 08 Bolt, Machine, 1/2"x 13/’ aa B53 12 Nlul, eye, SKS'd
f Bl 10 Pin x-arm, Steel pin, bn B B5/86 04 [clamp, Loop deadend
g X6 04 Crossarm, steel channel 4" x 2" x 2" x Vs" x 50" ¢m C 3R 02  |Spool Insulator,1-%" 3" dia groove
k €10 24 | Insulator, Suspension cu B41/B411/B44 08 | Brace, Steel / Woud, 28" x 1/4"
0 B 18-20 02 |Bolt, eye, 5/8" x req'd length ek B 507138 32 [Locknuts, as required
b B2 01 Pin, Pole top ¢ B4/B4.1-4.3 02 | Bolt, machine, 1/2"x 6"- 12"
i B40 04 Screw, lag (for wood pole only)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

6.35/11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION DOUBLE DEADEND

Date of Origin Reviewed by Approved by Revision No.

Unit Designation

July 1979 BRERB BRERB Board 6

DC- C8-1 Page 1 of 2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




BN A
e D
o NN |
-

TOP VIEW

s, V( % A"
Mid. Mozammel Hug

-

d. Abdul Khalequ (Md. Ahsanu! Hagque,
"',((\}'ﬁuﬁfp nt TADD %qp_ ::_)p Consultant TAPP %I;l{%p

A
ihur Rahman)
P(E?g%\\m?\z}t'}gi pn NREFR

(Md. Duhidul Istam \-{ TAPP BRER
Consuitant TAPR RR)_E?r' ‘onsultant TAP

(o PIaIS 8 3800

(Debasish Chakrabortty)
PD TAPP BREB.
isan Mollik)

Asst. Secy. (Board), BREB.

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:  6,35/11 KV PRIMARY, 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION DOUBLE DEADEND

Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 DC-C8-1
Page 2 of 2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




1219 (4") | 1219 (4")

L BEC LSt ) L .. | ) R
s :
_1._...__. |
X 152I{6 ) :
AN _ Moﬁ'm
457 (1-6") Wﬂ‘ B.
76.(3") 76 (37 ' \ | ] ' .(ﬂQatd)’BRE vy 763"
L | l 203 (8") MSLSeCY 760 1607
") " \ i — 526"
O\ el ¥
0 . gfﬁ
f! I i ! | 1 LN}
H {&_ S R T g E. M SRS . ? o A€( - 1%
H L H
e 4 o
129](9"1 f | N“‘d % %
| Slo
} R Sg
Ckt.-1 T LH'} _‘r"T_ L Ckt.-1 ]
Position of Guy .
| |
| ‘ | 1219 (47 -2
A - cu o
| | e
| | e
- 2ot J d} | é«:
(P Y ¢ 229 (9") ES]
\ r\\| | S
|

Position of Guy

Cnns;ﬁtam TAPP B-R.EB

5
‘ 610 2" g
Notes :- Ckt.-2 diek— .
1. Brace holes at both end should be 11/16"9 ' N . S
2, For 300 R.S 11 KV with Penguin conductor, O

3 See drawing Md2-11 for deadend assembly details.
4. At certain locations this connection will be made with

10t line clamp. ‘ | |
nay be used for angles upto 45° install anchor | ‘ I
=nackles, one on each eye nut and eye bolt. | | / \_
| - p
bn L

6. 1f there is change of conductorsize, X ! X
use guy according to the requirement. |
7. Screw, Ing is required when the unit is installed on : : o-d-ck ‘§ ) X X
wooden pole only (o — - s ?58?) L
D G T SIS PTeR
| By Wi (IS IO AR =7
ITEM | MAT. CODE |Qty. MATERIAL ITEM_|MAT. CODE | Qty. MATERIALY ¥4
d B 46/1T8 24| Washer, squaré 2 174" 1 B 81/132/133 12| cTamp, deadend P =
8 Lokl 11__|Insulator, pin type 11 kv n___ | B26/B27/B28 | 06 |Bolt Double aming, /8 x Required leagh| .
¢ B4/B4.1-4.3 10 | Bolt, Machine, 172" x 6"- 12" ry B3 02 [clevis, Secondary, swinging b &
{ Bl 10__[Pin x-arm, Steel pin, aa B33 12| NuL, eye, 5/8" ¥
8 X7 04 | Crossarm, steel channel 4" x 2" x 2" x %" x 8-0"]|__ bn B 85/86 04_|clamp, Loop deadend £
k. Cio 24 !lnsulator, Suspension cm cin 02 [Spool Insulator, 1% 3" dia groove R
0 B 18-20 02 [Bolt, eye, 5/8" x req'd length cu B42/B42.1/B45 | 04 [Brace, Steel’ Wood, 60" Span
b B2 01 |Pin, Pole to ek B50/138 34 |Locknuts, as required 24
i B40 04 Screw, lag (for wood'pole only) | ?
1
2
= -
BANGLADESH RURAL ELECTRIFICATION BOARD )E %
=
Unit Description: 6.35/ 11 KV PRIMARY, 3-PHASE STEEL CROSSARM(X7) CONSTRUCTION, DOUBLE DEADEND
Date of Origin Reviewed by Approved by Revision No. Unit Designation
Tuly 1979 BRID BREB Board 6 DC-C8A sheet10f2

Revision Date: Tuly 1980, JTune 1981, August 1989, July 1995, August 2013, February 2020




{ 1 W
ANy T,
W \J
= W, I diek i,
pe= L1 \ w // //_B “
- S - Y Gl S - N ()
[~ AR /41
- —::'— . | .-_ o
(’-]?7‘?5;. it IR h, ______________ R ?fli!llﬁi
AN S o K
AN o e
(i
‘T ek X | H
- J y
TOP VIEW
-

(Md. M&ﬁr}?/alman) (Md. Lunidu! Islam), @J/W/— ﬁ('

“anenltant TADD RRER  Consuitant TAPP BREP  (Md. Mozammel Hug) (Md. Abdul Khal jue) (Md.
e ;ﬁ(\nsultant TADP ‘-?FEF” Cansultant TADD gqpm COHSU!M%E%}%%‘

e e 39900
: cifne el R
(Demakiagomy} LD Ol @ﬁ HorH oY
PD,TAPP BREB
wMollik)
s;(g"q“f:‘“?bm \, AREB.

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6,35/ {| KV PRIMARY, 3-PHASE STEEL CROSSARM(X7) CONSTRUCTION, DOUBLE DEADEND

Date of Origin Reviewed by Approved by Revision No. Unit Designation
Tuly 1979 BREB BREB Board 6 DC-C8A
’ Sheet 2 of 2

Revision Date: Tuly 1980, June 1981, August 1989, July 1995. August 2013, February 2020

1




TOP VIEW

1824 (8

762 (26"}

[ e B

T2 (16"

Th 6"}

T (6]

483 {17

483 (1-7")

44--F

1
|
i
|
=y

TAPP, BREB.

(Debasish ChaKrabortty)
PD,

d. Ahsanul Ha
craai Aol Hague)

—_— s ss— S o— - S—— - oy p—— e | o . . w——  n— i i, - | G‘&
b=
,g?i«‘
k 2 &
-
Elm
Ckt.-1 Ck 2E
- t.-2 <S5
12147 ‘u a
Position of Guy - = £
&
<45
=y
s 4 g
E%
B
m -
sl
1219 4"y
Ckt.-1 Ckt.-2
Notes :- —
1. Brace holes at both end should be 11/16"¢ ﬂ.g&'
2, For 300" R.S with Penguin conductor. #1021} A
3. For 300" R.S with Hawk conductor, B
4. See drawing M42-11 for deadend bly detail EF
5. Normally Bolts will be used to fix the hardwares. :E €
If not possibl use of G 1 Clamps (duly approved ; £
by BREB) Shall be made. : o~ -8 E
. Serew lag is requived when the unit is installed on wooden pole only, I @ I e C-—Ek C“‘;rc
i *
'\—lid [ SO -
ITEM | MAT. CODE | Qty. MATERIAL ITEM |MAT. CODE | Qty, MATERIAL
d B4&/TTE 30 Washer, square 2 1/4" 1 B 8T/132/173 12 |Clamp, deadend
B X6 06 Crossarm, steel 4" x 2" x2" x V4" X 5-0" n B26/B27/B28 09 Bolt, Double 58 x Required length
e B3 12 Bolt, M/C, 1/2"x 13/7' 5 BT} 02  |Clevis, Secondary, swinging
k c1o 24 Insulator, Suspension aa B33 13 [Nut, eye, 5/8'
o B 18-20 01 Boll, eye, 58" x req'd length B 85/86 04__|Clamp, Loop déadend
c B4/B4.1-4.3 03 Bolt, muchine 1/3"x 67- 12" cm C 32 02 Spool Insulator,1-%" 3° dia groove
ek B 50/138 Locknuts, 5/8"p, as required cu B41/B41.1/B44 12 Brace, Steel/ Wood,  28"/1/4"
i B40 03 Serew, lag (for wood pole only)

__ BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6,35/ || KV PRIMARY, 3-PHASE STEEL CROSSARM (X6) CONSTRUCTION, DOUBLE CIRCUIT, DOUBLE DEADEND

Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BRER BREB Board 6 DC—-CSB
Ravician Thita: Tnly 1080 Tuna 1021 Awmier 1080 Tuly 1008 Anmnst 12 Dahseoense: 3040




[ ] (@ Q]
LO [© ] |
Top View
- 76 (3
o oo £ ot r
= =
1219 (49 ;
I_nni AB1(1-3%) 24 {31 _Eii@
i i i
B —
: s o | (_)
‘ G
1219 ¢4 i s, é
- Md Abdul Khaleque) %‘/
£ =N Pk Cr('mqultantTAPP BREB o(r?glfIMnfTAp}I;{?qu
: & h‘fi\x E_‘_" =
i .E 1219 (49
i o
76 (3" o 1 l'-)"}i " {?qqo
‘AE (31 iy 381¢ & : QW“
," _.p‘:\\_.__ 2 L_,__ '? ...’ 37\ 0
=5t @®
) : g,gan“ (,r“
Y on®
@4 G
e 1219 g4y e
(
NOTE: ‘\ whq‘:\%‘i"{‘}m?ﬂ« '-~,\$‘Nc1d« ﬁrui I1 ]:!rrg R '}
1. Screw lag is required when the unit -
is installed on wooden pole only. Front | View
Item Code Item No. Material Unit
a (B Insulator, Pin Type No.
f Bl Pin, Crossarm, 5/8"x10%" No.
cu B42.1/42.2 Brace, Steel 607/25" No.
C B6/7/8 Bolt Machine, 5/8"x Req Length No.
d B46 Washer, Square, 2'4"=<2%", as required No.
c B3 Bolt Machine, 1/2"x %" No.
C B4/4.1/4.2/4.3 | Bolt Machine, 1/2"x Req Length No.
bs B33/34/35 Bolt, Single Upset, 5/8”x Req Lenngth No.
cm C2/C3 Insulator, Spool, 174" grove dia No.
ek B50/138 Lock Nut, 5/8” dia, as required No.
ek Lock Nut, 1/2” dia, as required No.
g X5 Crossarm, Steel 4"x2"x2"x14"x3'-0" No.
g X6 Crossarm, Steel 47x2"x2"x14"x5'-(" No.
i B40 Screw, lag (for wood pole only) | No.
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 6.35/11 KV PRIMARY, 3-PHASE, Double Circuit, Single Support
Date of Origin Reviewed by Approved by Revision No. | Unit Designation:
BREB BREB - DC-CI13A
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

PD,TAPP B

\

RER




) [© # [ i (@N Q]
,
LO LQ I P&y O Q]
Top View
i ":_1 76 3f 5
o P @
— et sz{ e E %:
z L E T QI‘( = 25 ! J g
i L £a
1219 (49 ; ' (:
; 5
| ﬂ'i 3IBI(1-3") 914 (3 _f'iu _—
i 8 =
- E—ﬂ = — _,..7,.__"?{ B
: L i Cz
| . s Be
i 3 o
! et Zf%
1219 (4% i “E% g E
- s e <
' 'Li—\ “l//'lj — o %
: v - .f”‘:\ 40 : ;__‘ =L 3
i q" _ S
™ ' i) g
:‘h gg g g
i 1216 () wao Sg
=0 =N
B o E
i~ -, @,
lﬁﬁi o14(3) AB1(1-3" f:w :r' gg
Rl | memmmms, - i = {' '“’g
L . B
%
[EIE XD =%
4%
2F 3%
1} E, % < _g
| = =g
NOTE: \h o Eg' =) £
1. Screw lag is required when the unit | % . =05 ; 2
is installed on wooden pole enly. Front I l View ik S Tl 12 599
4 : Mg 3 A i_iiﬁig___
BN g b o SRS T
Item Code Item No. Material Unit | Qty
a B Insulator, Pin Type No. 12
I Bl Pin, Crossarm, 5/8"<1034" No. 12
cu B41/41.1 Brace, Steel 607/25" No. 8
C B6/7/8 Bolt Machine, 5/8"x Req Length No. <
d B46 Washer, Square, 214"x2%4" as required No. -
c B3 Bolt Machine, 1/2"x 172" No. 8
c B4/4.1/4.2/4.3 | Bolt Machine, 1/2"x Req Length No. 4
bs B33/34/35 Bolt, Single Upset, 5/8"x Req Lenngth No. 1
cm C2/E3 Insulator, Spool, 1%4" grove dia No. 1
ek B50/138 Lock Nut, 5/8" dia, as required No. -
ek Lock Nut, 1/2" dia, as required No. -
g X5 Crossarm, Steel 4"x2"x2"x14"x3'-0" No. <
g X6 Crossarm, Steel 4"x2"x2"x14"=x5'-(0" No. 4
j B40 Screw, lag (for wood pole only) No. 8

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/ 11 KV PRIMARY, 3-PHASE Double Circuit, Double Support

Date of Origin

Reviewed by

Approved by

Revision No.

BREB

BREB

Unit Designation:
DC-C14A

Revision Date: July 1980, June 1981, Aupust 1989, July 1995, August 2013, February 2020




.

PER | e
| Bt [ ""1 c—d—ek gg
. c—d-e . =
Serve u P / K | /3' square §A
%} | curved '5
o sl ..g g
E &
I ; | I\ I E 'J..
| 9 il €7
; g
PLAN k=4 L) g |
£ |
_— =0 x'm
A c2 of
ot Sz 2
£l c—d E'% g; E
I W
2 1/4 square(r g? z
| =5 s
_J_'_uv E;m 2
“uo .
Connect to E1-3 = g
+—neutrol conductor = 5
| ond ground wire. 3% %%
i 7 =
&l =€ 58
. @
) "
| o
(v 4y P e 4
b= g% 85
F = g g
145 8 E%
S5 M5
,-i == o =
TIINS T
% € =
F77 g o E
= E
| NOTES : e
| 1. See guide drawings M30-1 ond M30-2.
| 2. An M2-9 is o part of each guy assembly
| and must be instolled with the guy.
. | 3. A performed deadend for guy strand may
f\\\‘_ ' be substituted for the 3—bolt clamp shown.
b~ NL E1-1, E1-2 4. M30-1 should also be followed
= arialel wfd .{ll"\’l\: k“ia\‘_
wH A @S AU AT | ASSEMBLY UNIT
- E1-1 E1-2 E1-3
1/4" Guy Wire|3/8" Guy Wire|7/16" Guy Wire
ITEM MATERIAL MAT. CODE No. REQD. No. REQ'D. No. REQ'D.
¢ Bolt, machine, 5/8" x reqd. length B6/7/8 1 1 1
d Washer, 2 1/4" square B46/118 1 1
d Wosher, 3" Curved B—49 1 1
)i Screw, lag, 1/2" reqd. length B-40 1
o Connectors 16 as req d. as reqd. os _reqd.
u Readend for guy strand 1869/70/€21/22/23| 2 Light duty |2 Light duty |2 Heavy duty
v Guy ottachment B56/57/58 |1 Light duty [1 Light duty |1 Heavy duty
v Guy wire, H.S.. 7 strand N—2/3/4 [req'd. length [req’d. lenqth [req’d. length
av Jumper, No. 4 stronded Al alioy or equiv D-4 1 1 1
ek Locknuts, as required 850

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:  6,35/11 KV SINGLE DOWN GUY THROUGH BOLT TYPE

Date ol Origin Reviewed by Approved by Revision No, Unit Designation
July 1979 BREB BREB Board 6 = = -
) E1-1, E1-2, E1-3
Rarrician NMata: Tale 1000 Thes 10R1 Aviaviet 10R0G  Tule 1008 Ananer M1 Bahewsass: 300




B3> BT @Y HER AfElfe e 7R 19900

=Ny oE Qe it
a :
2 g5 %Eé
-t ~
gg gg gf?
EE 5 =
S
"
| ek |
I-'"]//clb | 12" jerve a0~ 7 f_:-]/d
3 (RN \ e N 5
¥ 7 - y P || I
f Staple here only | ‘T\oq
l i
.'

|
I
|
Connect to Neutral -——-""f"‘“':]
Conductor and Ground Wire.
I
i

A (Md. Duhidul jslam)
v Nozibur Ramec Jonsuitant TAPP BRET &3

APP 1_11.2'“"‘ R
.

or 1|

3 |

%/# ]

]

L]

I

Y

(Md. Mozammel Hug)
nnsultant TAPP BRFF

~onsultant T
<
] 4
AT o |

|

|

I

I

|

I

I I
I E
I |

/ L.I:J v uf_J

K

|

|

I

|

I

|

I

gy o S & S
NOTE :
1. Other accepted and equivalent items of deadend ASSEMBLY UNIT
materiol moy be substituted for 3—bolt clamp shown. JE2-1 £2-2 | £2-3
2. M30-1 should also be followed 1/4" Guy Wire|3/8" Guy Wire|7/16" Guy Wire
ITEM MATERIAL MAT. CODE No. REQD. No. REQG U. No. REQD.
al Staples - B—6/ 4 ) 4
d Washer, 2 1/4" square B-46/118 1
d Washer, 3" Curved B-49 i T
ao Bolt, thimble eye, 5/8" x reqd. length B—-24 T 1 T
p Connectors =6 2 2 2
Y Deadend for quy strand B6S/E-21 2 Light duty [2 Light duty [2 Heavy duty
ab Nut, thimble type eye, 5/8" B-54 T T 1
Y Guy wire, H.S., 7 straond N—=1/2/3 reqd. length [req’d. Tength [req'd. lengin
aq | Jumper, 4 Al, Alloy, Meter D-4 2.66 2.66 2.66
ek Locknuts, as required 850 1 1 1

BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 6.35/11 KV SINGLE OVERHEAD GUY THROUGH BOLT TYPE

Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREB BREB Board 6 E2-1, E2-2, E2-3

Avvenset 100 Tule 1005 Auvanet Wil Bahssass Y000

Raviernn Natas Tnde TORN Tana 10R1




BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:  6.35/11 KV CROSSARM GUYS FOR HORIZONTAL DEADENDS
Date of Origin Reviewed by Approved by Revision No. Unit Designation
Tuly 1979 BREB BREB Board 6 E5-1, E5-2
Sheet No. | of 2

Revision Date: July 1980, Junc 1981, August 1989, July 1995, August 2013, February 2020

ab — [ r“1
Serve “.J }1‘_ ,fi :H_,, :"11,(1
"".i }!" 11! ]’J)‘\\-:‘\'.\:—_ g
| (! g
( £
Serves I J! ! %; @_’?
(if required) [ | . its'.::‘
| I E 5
i | g:«;
/ L <g
T v A H,
£
=
CJEJ'
g5
So
éﬂ
— G'\E‘
5—:
a
EE:
=
Gt gl (IfServc_s p 98 I j <§
ao—d-ek it require (_(-: ¢ 'd-é
™ [_E/ go 2 / i ﬁ—w-“:rﬂrd s bm*-d@k:\ G : SR §,§
re . :\aw(':’ : ’ o0~ d—ek c? -&.’
- ,..L;jy:ﬁ’ 250 MAX P IJ 1k il B o 8
o /\L‘J" ..L' ___,LM_:_.-—"" e / 5— { Il' #1] o
7 i 0 Serves / 0q R R
/ | - u / Lf Qe o
/ M- € -d ek (if required) P - Bl = g
s / | ; af | | 1 ml 8 =
/ / 1% il o flff R e el Me
A 7 [ : S §E
= I [ ] Note 8 yj:_. NE
Note 4 / =y =
oty / } 5 S L o4l B SE
i . G B = EE
> \ / | |1 £5-1 [1/4" GUY WIRE 1 3% <
/ % LL F 23
A p 9. lf_‘ﬁ,..',‘ 3/8° GUY WIRE | =5 "
e -3 I =
. o | e | BE
Note 5 | g =
k% [ ] ] & S &
g2 hES
o i | 4 = h E
e aﬂ P
Py I BF =
RIS IR TR, J’?orﬁm\ RS §‘§ =%
STUB POLE LINE POLE 58§ Bt
L = y
%
| REFER TO SHEET 2 FOR NOTES AND DFTANS
ITEM [ NO. MATERIAL . J.MAT._ CODETITEM] NO.JMAT._CODE MATERIAL
c 2 | Bolt, mochine, 5/8"xreq’'d length| B6/7/8 | ab | 4 554 Nul, thimbleye, 5/8°
d_| 6 |Washer, square, 2 1/4" B45/118 | ol | - 867 Stople, ground wire ]
p_ | — |Conneclors, as required 15/6 o | 2 824 Bolt, thimbleye, 5/8 xreq'd lenglh
u 6 | Deadend for quy wire B69/€-21 oq | — D-4 Jumper, as required il
Y | — |Wire, quy, H.S. 7-stlrand N-2/3 ek | _ 850 Locknuts



| A
| anti~-split I ’ ]

bolt |

D © 3 c~»c:—ekN ll
PR e L= | aby 3
1 ///B E?’QSSIQFF‘H

C) . o Note 8

To
C  Crossarm

(Debasish Chg|
GKrg |
DD.TAPP; gn‘é’gm’”

a
0
(Md. Ahsany]
Consultant TAHP{’{&F?;?“

0 E
T — " P \l\ onti—split bolt
o & I™\ c—d~ek

(Md. Abdul Khaleque)

“onsultant TAPD RRTT

; = —m .
&“g@ Lo g5 £
‘ (é@“‘-‘ 4 52 C&m 2&
& 249 2 a
| = e [ 22 o3z [ Es
STUB POLE o %\ﬁ& STUB POLE -1 3= S
DRILLING GUIDE w | J ASSEMBLY GUIDE J=: oS =S
P é'@f%* =t =g gt

-JTES ) !?ﬁ'

. Stub pole holes A, B, C and E are pre-drilled as per pole froming guide M20.
2. QObserve the 259 max. angle from the horizontai. Normolly this mady be cccomplished with o stub pole

. 5'=0" shorter than the _deadend pole.
5. This type of guy is req'd. for crossorm construction where the unbalanced loaded conductor tension is

more than 1000 pouncs per conducter for twe 8 feet crossarms or 1500 pounds for three 8 feet
x-orms. Guying req'ts for using this unit ore gepicted on individual pole top const’'n ossembly units.
4. The down guy units E1=2 or E1-3 must be specified separately, Thimbleye nuis are added to the
gown guy mochine bolts & the suspension insulotor double grming boits.
5. Two onti—split bolts cre req'd to be installed on the stub pole using holes identified as A & E.
€. With muitiple down guys two or more onchors moy be req'd. If two anchors are req’d. the spacing
between the anchors shall be sufficient to provide the mox. holding power of each anchor.
The absolute minimum onchor seporaotion shall be 5 feet.
A preformed deadend for guy wire may be substituted for the 3—bolt clamp gepicted on the drawing.
On the decdend pole connect lower guy to the neutral conductor ond ground wire.

On the stub pole interconnect oll overheod down guys.

o ~J

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:  6.35/11 KV CROSSARM GUYS FOR HORIZONTAL DEADENDS

Date of Ongin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREB BREB Board 6 E5-1, E5-2
Sheet No. 2 of 2

Revigion Nate: Tnlv 19800 Tone 1981 Anenst 1980 Tnly 1995 Anongt 20113 Fohenarv 20714




A preformed deadend for quy wire
may be substituted for 3—bolt clamp =
icted on drawing. s a1~ :
depicted 0 the a g —T*‘%“ ::::‘\\[ﬂi Iﬂ_‘(_{li— FrrR— §‘§
M30-1 should also be followed aF
2H
w
@
. / ga
m -
Noziotr Rahman) — (Md. Duftidul |5 =
L- ég;i\su!mﬁ TAPP RRER Consuitan TAPPR I?;QJF'-'F [’ : : 2 __(’i
) i —fﬁ'@“”“&_( Ii_i T
il eS|
z ] -
© o]
(Md ) Hug) i : 3
(Md. Myzamme! Hu - = =
‘onsultant TAPP RF?FF?‘ %/ nE_
&
Connect to neutral g’e
~+——__ Conductor & ground |
] wire
- — oo —— _
S~ o8
i F&
ER
<
SE
BE
' <S
b=
i b
ASSEMBLY UNIT
E6—2 E6-3
3/8" GUY WIRE 7/18" GUY WIRE
ITEM MATERIAL MAT. CODE No. REQ'D. No. REQ'D.
c Bolt, machine, 5/8" x reqd. length B—-7/8 2 2
d Washer, 2 1/4" square B—46 2
d Washer, 3"x5/186" curved B-49 2
] Screw, lag, 1/2" req'd. length B—40 2
D Connectors [—6
u Deadend for gquy strand B69/70/E21 4 Light duty 4 Heavy duty
v Guy attachment B56/57/58 ! : 7
y Guy wire, H.S., 7 strand N-3/4 req d. length req d. length
av Jumper, No, 4 stranded Al alloy or equiv. D-4 as reqguired as required
ek Locknuts, as required B50
CK Clamp, guy Dond, gs required =

1,

NOTES

When two quys are attached to one ancher rod,

use F2-2.

Spacing between anchors shall be sufficient
to provide max. holding power of each anchor.

An M-2-9 is a part of this quy standard and

must be installed with the guy.

—— — —

BANGLADESH RURAL ELECTRIFICATION BOARD

6.35/11 KV DOUBLE DOWN GUY

Unit Description:
Date of Origin Reviewed by Approved by Revision No. Unit Designation
. C ) 3 o
July 1979 BREB BREB Board 6 E6-2, E6-3

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




Ahsan g,
Asst. Secy, (Board), OB?B)&

Top View
Q LD OF [ o sHwTe g Wy 994900
I gm
B Siw
e 2
=1 2
I it £a
el gy Hole dia 3/4" 2=
10 8a
) - W - i i 8°
o . .. ' o e
':"':""‘,"“, """"""""" . = o) il
L e o @) a%
ik s e il
&
¢ = g
b =
SE
S

Refer to A
for detail drawing
of Clamps

ro— s

t. Use of steel pole recovered from

DESA/PDB is preferred.
2. D is the diameter of the pole

the place of fixing of clamps

Detail - A
Galvanized Clamp Set, dia 8" or 10"

i s S SR el
Al o o i

-4 M5-25
VA=
{Md. Abdul Khalegue,
« (Md:Mozammel Hug) Consultant TAPE, BREB

(Md. Duhidul lglam) ~~-OSultant. TAPE BRE
Consuitant, TAPP RRE

A5t Rabimany
1

at Consnltant TAPP BRER

ITEM NO METARIAL UNIT
LP 1 Leaning pole, req'd size & length. NO
MS-25 3 GL Clamp for leaning pole, size as req'd. PAIR

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

LAY POLE GUY FOR ANGLE POLE/TAP POLE
(For areas where guy/overhead guy cannot be placed)

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BRERB

BREB Board

6

E-7

Revision Date: July 1980, Junc 1981, August 1989, Julv 1995, August 2013, February 2020




(MeA67ibur Rabman)

Consultant TAPD RREP

(Md. Duhidul Islam,
“onsuitant TAPP RRF

. (Mﬁrf\&ozamme} Hug)
-onsultant TAPP RRE

A -
N ~ (Md 1 : ul Haque) ‘Debasish C
o % | Abdul Khaleque) {Debasis bortty)
& K Consu'tant T o iy
A ;\x ; Consultant TAPP, BREB LatTAPREBREB - pD,TAPH BREB,
N D
=
N X
% 7 I
& N
el d 7,
- N oy
= [ S FR I
&g, @ \ 2\)
o o/ 3
Ex A S T A AR
s K
o|5| A
7 |
[ & 4‘\ 1—1__'] L .
= | = 2 ;
2 : et R T T T T e m— _-<_"I‘-rv~v_'q'l'f
vl W " A N N A N P I SIIIIAINIINSINNININI %
IR 4
Sk ¥ SN 2
< | W N ~
7 5 J PLAN
A S|
% " Approx., after
N 2 train” |
A 23 strain” is
A D oli
A ;\\ | 599 applied
55 N ',‘9
A N G AR NPT TS e
0 [ o
— R I 3 R s Y -
SRR R R RGN
AR S A A A A STy
N ] GO
N <
A %
R e a
N 6 S
s & %) \’\//
o 6 L R
R B
— o~ XY GG
: S0
L) A
N o & G
{7 L 4 2
4 N
sl = W A
2l 8K SF
N X
el c 4& 74
= /‘
El £ ¥
3 x -/Qv
Mo N
J R
0| © XN
,.,} )
/}é SECTION X - X
G
A
o
= -
= \ N N N N N N N N N N N PPN NN AN SN o \"‘ \“(\é ‘aSSEMBLY UN“
AN AAA A A R o
F2~1 F2-2
ITEM MATERIAL MAT. CODE NO. NQ.
d |[Wosher square flat 4"x4"x1/2" B-47/110 1 1
with 13/16" dia hole
x |Rod, Anchor, twineye, 5/8"x8'—0" B-62 1
X Rod, Anchor, twineye, 3/4"x10'=0" B-63 1
z |Anchor, creosated Log, 8"x3' —6" Z 1
z  |Anchor creosated Log, 12'x6 —0" Z2 1
Total Tension (1/1 Lead) Average soil (pounds) 7000 15.000
Total Tension (1/1 Lead) Poor soil (pounds) 4009 10.000
BANGLADESH RURAL ELECTRIFICATION BOARD
3 3 . i
Unit Description: LOG ANCHOR ASSEMBLY
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 F2-1, F2-2

Revision Date: July 1980, .

June 1981, August 1989, July 1995, August 2013, February 2020




NOTES

LE

p:R

1. Refer to transformer guide drawings for secondary and service H
connections. f‘:’ a
2. Refer to guide drowing M28—1 for transformer lead sizes and 2
primary fuse sizes. Eo
3. Increase this dimension to 2'-0" for spans over 300 feet 20
in length. : -
4. The transformer grounding loop assures two separate ~8
connections to ground. See guide drawing M27 for details. g.‘é
5. A ground rod is required for this instaliation. Specify :Jﬁf_
separately as M2-11, S o
6. A 3" minimum separation is required between neutral and s
low tension jumpers. ] :5
ae ¥
& &
~
B
NN 58
N
| P
{47
| S

o
Nz X | ! ! ! -:IE.
! = =T== || p—-— (k:
| N ~ ‘W 8¢
i | =t
Transformer o ;L i1, | s "‘l“i g-;;
tank grounding %3
ke T Phase <:®:@ji | s T [
L _,_,_J ”"l"“:-'_ i
—T See Note 3
ITEM | NO. IMAT.CODE] MATERIAL ITEM | NO|MAT.CODE MATERIAL
& 4 BE/8 | Bolt, machine, o/ x regd lenqgth ap 1 [24/46 " [Clamp, hot Tine
d 4 1 Bi6/118 | Wasner, squore, 2 T1/% aq = 8] Jumpers, Cub, solid
P = 15/6 | Connectors, as required ek [~ B850 LockRuts as required
ae T H? Cightning drfrester frm T 890 brackel, cutout and arrester
af 1 H Lutout st T T [ 135,584 |ourrup for not hine clamp
an 1 G franstormer, conventiondl lype 1 LR Fuse' desired rotinq

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6,35 /11 KV SINGLE PHASE TRANSFORMER AT 1-PHASE DEADEND

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

6 G106

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




